5596[E BARA —TU T RBEFERRATIVDE

BFISWULES TN 1R 2R QF SF F

Seed
1 1 |G03828 |thE BAA (7a-FzZz2a=nN—2 )—— kE BHA
2 Bye ( ) — tE BHA
3 G25147 | BEE (EHNT=ZAA—T> )— ¥ BE |60 61
4 621804 |giHE &% (LBET=ZHa ) —Wo. teE A
5 624624 | Hz (EBHER ) —&E & 7564
6 625222 | EB = (AT ZARI—LEFR ) —60 60 5B =
7 G25146 ||UAR /\E (Club HIT ) —— R&JI $¥|64 63
8 | 5~8 |G23561 |[BAJI HE  ( AABDTZ=R ) —6363 L A
9 | 3~4 |G24428 |85 AT ( BHFHT=-AHE ) —— 8K HEN 60 61
10 Bye ( ) — NI sk
11 624357 |HJIl HB— (EBET=ARI—IL )— /NIl s [75 64
12 624753 |/NJI] s (OURFZAR—L4 y—176(4) 61 NI s
13 624737 |AK H—B8  (/NEETC ) —— W B 63 16 75
14 G24620 |\Lf B ( BHOZTF—ZAtrs— )——WO. HE B2
15 Bye ( ) —— i B2 [6375
16 | 5~8 |G23562 @l B2 ( F—LU&RT ) — HE BA
17 | 5~8 [G23673 |HIE EEX ( BMRT=RER )—— HiIE BX 63 62
18 Bye ( ) — g A
19 G24436 |5 HL =N ( 7URRFBAURTT=24557 ) —— 5B TN |6162
20 25188 [#3)Il FBR (MMBET-RUSTHE ) — 6461 Gl ZS
21 624827 | A#K (HBERT-ZHa ) — BN BR 36 63 61
22 623387 |=Af HE (JTC )y —wo. #mAx
23 Bye ( )—— B 3 63 61
24 | 3~4 |G24488 |5k 1 ( ASPHEATS ) — IR —A
25 | 5~8 |G22324 |[Mh EE ( 7=RA=ZN—Z ) — M ®E 64 63
26 624471 | B Fx (‘mRO—7=2457 )—— WO e 56
27 625250 |BTE #Rib (A)A—=ILTS )—— R #Rt |6275
28 623020 | B4 R (7 79V % ) —163 62 IR — B
29 G25042 |1l #ti— ( 7ZRAZN=Z )— /M BAE 76(2) 63
30 625392 |/\s FRE ( BTSRRI AL ) —62 63 IR — B
31 Bye ( )—— Mk —BL 6263

( ) —

32 2 |G23430 |/NFR — AR

I

JBTZRYZT

JIAT4VTYRM



5596[E BARA —TU T RBEFERRATIVDE

BFISMUEFTINA 1R QF SF F
Seed
G03828 [Eb% BAA (FR-F=ZA=/=Z ) W& B\A
VY 622324 |ipeh mE (FZRAZN—Z )T | =R
Bye ( ) | tE BAA
2 Bye ( ) Mo %S
G25222 |R& = (A= T=220—AHHR ) KB & 61 67(7)10-}
e 623561 |RAJI HE ( HFABDTZR IR
G24483 [EBER BF (BEFEER ) |75 61 ttE BA
4 626392 | /g B ( B EERTAL ) L
5 | o G22883 ¥ L #HER (tmT=x537 ) 3L $RED 6161
622872 |gTHE B ( AAORHE ) |wE B
Bye ( ) ] #HAR B2
6 Bye ( ) % 2%
Bye ( ) &k Ez WO
7 Bye ( ) |# B=
G24460 88K B2 (T=RTZo=27 ) | g BA
s 624491 |# B ( PINTF=RHST ) e R®E
G23430 |/MFR —pR (M/BT=ZRI57T ) MR A 63 62
° 625147 | iR WE (ERNF=RA—7> ) |TH HE
Bye ( ) | INR —
10 Bye ( ) 5 HE
Bye ( ) Fi N2 62 62
L Bye ( ) |xE mit
o .. G24488 |#hA W (ASPEEETS )] INFR — AR
G24481 |58 b ( EEMEAK—YE 8— ) T BEE
G24436 |5 HL =N (7ORRFBALETT=2557 ) S = 26 75 10-7
18 G21667 |Epgth A ( mREH ) |m A
Bye ( ) BE B2
14 Bye ( ) thig B
Bye ( ) E ki (6061
15 Bye ( TR 25
G23562 [;EED B2 (F—LU&T )|
18 7 la23673 |chug gk ( MitET =288 )

DIATAVY YRR



5596[E BARA —TU T RBEFERRATIVDE

BFIORMUL TNV AR 1R 2R 3R QF SF F
Seed
1 1 |G22582 |JRH M ( BEREKERE ) — RE N
2 Bye ( ) EHE N
3 622979 |=H BZ (BRZ7yN5T )— TEH HE  [62 61
4 624294 |75 HiE ( APOZNEF ) —176 62 EA RN
5 625387 |JIl £ 1&Z ( FBT=RHTT ) — Ik &= 6162
6 Bye ( ) — HE X
7 Bye ( )— BHF B 75 63
8 | 13~16|G24813 |77 & ( NTTR2E ) — A BN
9 | 9~12 G22089 | RA/H B (HEAT=XIST ) RAH B 6162
10 Bye ( y — BH RE
11 Bye ( )— @ 3= 6060
12 623444 BM == (sHWO—F7=2457 )— BE RE
13 G24449 |KKE = ( INEF=RH5T ) — BE #F 7562
14 Bye ( ) — BiE ¥E8
15 Bye ( ) — B8 X8 64 62
16 | 5~8 [G24696 |E#E *E ( RIRFZRHSTZAH ) — RE MM
17 | 3~4 [G20118 | BE (242724557 ) —BX B 64 62
18 Bye ( ) — BX BE
19 Bye ( ) — &N #¥ 6361
20 623034 |#EH ¥ (EohF=2H5T ) — BX BB
21 625281 [:BHR 4% (Ken'sF ) —1EN A% 64 57 64
22 Bye ( ) — SBH A5
28 Bye ( )— B% —3% [6475
24 | 13~16(G23493 | A% —% (RURT=ZESR ) — BX BE
25 | 9~12 |G23215 |f&1F Bifh (ZR~IBLTC ) — EE HH 63 60
26 Bye ( ) — R =
27 Bye ( )— %% & [606
28 651862 |#3F & ( D—BONDZ ) — B =
29 G14399 |Moh fE— ( Z4LAMEEVZ— )— T = 76(15) RET
30 Bye ( ) — Prep =
31 Bye ( )— itk A 63 64
32 | 5~8 |G24485 |k A ( YC&ACTF =27 HFs— ) — M| oAE
33 | 5~8 |G20535 ||l #&ER ( SEEKERs TENNIS TEAM ) — [l #ER 64 64
34 Bye ( ) — WiE AR
35 Bye ( ) — % g |60 62
36 25197 |Z2E K ( s ES ) — WiE ED
37 G24257 |HIE —# ( INEEF=ZH5T ) HIE —% 64 63
38 Bye ( ) — miE —
39 Bye ( ) &M BEE |75 62
40 | 9~12 |622282 | =M EE (F=22=N—2 ) — e BRER
41 | 13~16|G21025 |§&)I| #Z (7K$EBT AFAFI— ) I B 6175
42 Bye ( )— I e
43 Bye ( )— B8R &t |267562
44 G23015 |FHJR #=/th (Ken ST ) ZH BE
45 624079 | KIF BEK ( BREYUSAXTF=AI—h ) — kB BEA 62 62
46 Bye ( ) — AW mE
47 Bye ( )—xm #wE (WO
48 | 3~4 |G23496 %M #E (o—H147 ) — M e
49 | 5~8 |G24076 |fnA BH=E ( FRTC ) —fm == 62 64
50 Bye ( ) — | 5%
51 Bye ( ) — o st |76(3)63
52 625304 |HO ZHt (F=21="—2 ) — @ HE
53 625024 |fNgE BE (Te amREC ):lbnﬁ;% &E 63 61
54 Bye ( ) ZEk B
55 Bye ( ):lﬁa‘% A 62 61
56 | 9~12 |G19229 |k B8 ( BRZT-F—I ) [ ME
57 | 13~16|G21582 |#£IF & ( TeamUG )E B 63 61
>8 Bye ( ) — Bl B ITATALI AR
59 Bye ( )8 E 6167(5) 62
60 G19135 |18 E% ( Ken' sAAFF=ARI—LFE ) — M HE
61 G24320 |EE K48 ( KEEUMSAFZRRO—LEA ) — BI3 B—ED 62 60
62 G25112 |BART 8 —EF  ( GODAMER- F% ) —IW.O. B RE
63 Bye ( ) A HiE W.0.
64 2 |G20495 |M FE ( 7AROO—2ANF=2557 ) —




5596[E BARA —TU T RBEFERRATIVDE

BFA0mMUEFT VA 1R QF SF F
Seed
) 1 G20118 [BEX BEE (27371557 ) BX R=®
G51862 | & ( D—BONDZ ) P &
Bye ( ) B BEE
2 Bye ( ) K
G24449 |HE & (INEF=RHFT ) B OKH 6164
® 625395 | & i/ (BAMENET=R5T ) | S8 WA
G25002 ;& KHf ( HONDA ) 67(5)76(5)10-5 BX BE
4 625009 | =8 A ( B zIEwY Y P &
5 | o G21582 |Elf & ( TeamUG ) A& E 36 62 10-7
G24813 |7 i ( NTTRa® ) H/E EB
Bye ( ) B %
6 Bye ( ) BE RR
Bye ( ) R E# [7560
7 Bye ( ) |mE Bt
G25280 | RE Eif (Ken'sF3 ) )=
2 623015 |BA/R %o (Ken'sT 3 ) iR e
G25281 |EHT HF (Ken'sF% ) e SIE 6162
& 625282 |fEE TE (Ken'sF2E )T | EE EE
Bye ( ) m FE
10 Bye ( ) WA AR
Bye ( ) (1) 63 64
L Bye ( )T s e
G20495 | FIE (7RAI—RMFZ=RHT5T ) m FE
1211 3~4 1600535 || e ( SEEKERs TENNIS TEAM ) R AR
G24669 |#HIR = (HiETF=REH ) BE = 76(3) 61
18 623493 |B% —# (HUET=2ESE ) |BE —%
Bye ( ) R =
" Bye ( T % —»
Bye ( ) KB &K (WO
15 Bye ( )T KA A
G24079 |KIE BEX (%F#/for 3=k
161 2 l604530 | xafp 238 ( BAYETF-FIRHTT )

DIATAVY YRR



5596[E BARA —TU T RBEFERRATIVDE

BFISEUUL P TNVAR 1R 2R 3R QF SF F
Seed
1 1 |6G20273 |RIE £ (EEEET=-AY5T ) — B 5t
2 Bye ( ) — H B
3 625181 |BHE ZX ( =V IANTZARI—IL ) — & RS 7563
4 625039 |# == ( BIGKES y—IW.0 W R
5 G24613 |)I|f8 E5E ( AUNSATER ) — F&HE K 6164
6 624384 |7%M BE ( SeeD TC(v—F7=2557) )—36 6162 |HMA K&
7 G17746 | K1 KB (T=RY57 )— B Bz |7561
8 |13~16|G21628 |FE #H2 ( KMGF=RRH—IL )y —16262 =M B
9 | 9~12 |G21671 |FEM SEth  (MABYVYIURTZRYST ) —— TEM 6163
10 Bye ( ) — =M 13
11 625083 | S 1& ( BEBEBREETD )— 5H & 6164
12 622946 |#t L #& ( SL—ARFF=2 25— ) — 60 60 2MH 15
13 G24375 |k i ( T—FRIENDS. TC ) — BEB 62 62
14 624826 |fIEF A— (atw )—17564 KA 4
15 Bye ( )— AH 4 [6261
16 | 5~8 |G21460 | &M F4& ( MTF ) — SH 1
17 | 3~4 |G23458 |RH = (MEO—rF=24957 )— ¥t 8 64 62
18 Bye ( ) — W B
19 623112 | &4 EFR (Fvo7 )— =iE EA |26 6462
20 623221 |BA hEE ( F—LFH¥~ )y —160 60 B =
21 G22225 |\ K [EsE ( K—powers )—/\K E= 64 61
22 G18425 [|IE AR (CCHEBVAEIHE  )—IWO B %
23 624376 |HBA EiE ( e—tennis )—pE® —% (WO
24 | 13~16]G21251 |2 — = (TOP4/|~7;<T % ) —I6263 W
25 | 9~12 |G23712 |l IE# ( #hormo— ) — R E# 63 62
26 Bye ( ) — Pl IE#
27 G22638 |iRFH BK ( AM9UR )— &+ RKk |602662
28 624297 |liA = ( mRHTF—AHE ) —W.0 ML TR
29 625047 |M —& ( BABRA—ILTAUTR ) — L AL W.0
30 612131 |l AEB ( PlEk—7=% ) —60 61 Bl AR
31 Bye ( )— %R EM Ww.0
32 | 5~8 |G21860 A i ( YCACTF=27HT3— )— SH &
33 | 5~8 |G18943 |EE B (CavF7—EF=RY57 )—1EE B 6161
34 Bye ( ) — EZ B
35 622837 |AMH #B— ( NTNL )—1 &M@ #%— |63 61
36 625060 |8 &— (O—ReLF=2H5T )—I6276(2) 2B
37 G16943 | K& & ( 7O ORETF=RALYF ) —BE —= 36 6162
38 G24777 |HE —== ( GODAI y—1T36 6463 s =
39 Bye ( ):’_%ﬁ i [6163
40 | 9~12 [G18262 |BiE B ( HYaYBFHER ) B %
41 | 13~16|G22019 |# [EZF ( ¥—LBOSS ) 1M BE 64 62
42 622869 A Zs ( FBHT-—AHE ) —162 60 B B
43 G23774 |ZER E2 (WA T % ) /AR BN 64 64
44 625154 | R BAY ( AET = 2B ) —160 60 EE %
45 G23631 |fEAR HLAE ( #£J’SSC ) EAR U 6164
46 618388 |Af EE{= ( =AU FF=RRG—IL ) —W.0 BE %
47 Bye ( ) BA K 60 60
48 | 3~4 (G17779 |5E@ 3% ( TI—Cube ):'_ BH K
49 | 5~8 [G17093 [k4 A EM  ( J-STAP ) ek 6263
50 Bye ( ) — fei k&R
51 624636 M@ 1t ( GODAIBF )— 44 aE |46 62 53RET
52 616343 |$R# BAE ( TOPA RFRF—@F )—6163 mE =A
53 624549 |21 AR (bAAVRPT-REHK ):lé.m AR 6246 62
54 625199 |/t E 4N ( BFR{EZE ) 6175 BE EA
55 Bye ( ) HmE =)\ [6361
56 | 9~12 |G22194 |fEE =EA ( RR—YZ)TAk ) x5 B
57 | 13~16|G22828 |&K % (xﬁﬁu >TC ):'Eg- yid 6163
58 625041 | K35 RZ ( GODAI#E ) 6164 M7 i IIAFAVT YRR
59 625101 |E3RS R ( HCKS )— M@ s [625775
60 625084 |MHFF & ( ZZUFJUR1T )—I63 61 ®iE
61 623068 |BA fk ( HH2TBAR )T AIE B 6475
62 623794 | K15 B ( A—one ) —176(5) 61 it fe—
63 Bye ( )—12sm g |64 60
64 | 2 |G16226 |2 f2— (HEO—7=2557 )—




5596[E BARA —TU T RBEFERRATIVDE

BFASmUEFTIVA 1R QF SF F
Seed
) 1 G22665 [FIED %= ( =8UFJERFT ) mE R
621710 |+& &% ( Leads ) TE F%
Bye ( ) R %
2 Bye ( ) B F%
G24613 [JIIA R=E ( AUNSATHEm ) K E£— (6246 10-2
e 625181 |Bfie = (PU—2TANF=2RH—L ) |0 EE
G24862 | KFH £— ( KT =X7H7T=— ) 62 61 Pl &
4 617991 /O EE ( LAY RRERT ) 1B F%
G18943 |EF B (CavF7—ET=RYST ) BEE E 46 76(3) 107
S eeres o mm (EHEma e
G22154 |/\H —E ( BOUNCER ) 64 76(6) 2fE BE
6 624767 |IIF X ( BOUNCER ) KK BA
G18388 [FAAf RRIC (OL—NAURTFFZRZI—L =% RE  [7563
i 622531 | HAF f2 ( JL—AVRFFZARI—L ) | KK &KX
G22934 |51 BB (Y s Tennis ) 62 62 IR =
2 G14587 | kK BX (AMRVFZRRI—IL ) tB &%
G24636 |+ H =t ( GODAIBF ) "R E& W.0
& 624777 % —= ( GODAI =
G22131 |TA & ( with ) 63 62 MR EE
& 624585 | )il = ( NSK ) Bl
G22194 |fRE FEA ( ZR=v5)zAh ) WHE K& |6164
i 622959 |BEH R ( WIAURTTZRRT—SMIE ) |HML %
G24861 [#AH K& (OL—NAURTFFZZRI—L ) 6160
1211 3% \6o0046 |4+ % ( = NARTFFZRRI—IL )
G16343 |k BhE (TOPAURPRT—C&F ) AAR HZ Not Played
1 621251 |6 —% (TOPAURFRF—U%E ) |08 @B—
G25347 |BAR &Z (B T=RIZT ) 6367(4)10-8 | KH F4&
14 18011 | B—  (dET=RST )T HE %
Bye ( ) AH F4£ (6263
13 Bye ( )T [EE %
G21460 |AH FHE (MTF )
190 2 le17770 |m 3 ( TI—Cube )

DIATAVY YRR



5596[E BARA —TU T RBEFERRATIVDE

BFS50RUL TN (1) 1R 2R 3R 4R QF SF |
Seed
1 1 |G20499 | RAJI #z ( TI—Cube ) — BB/ HZ F
2 Bye ( ) — B8Nl Mz BB #z ®:’WZ
3 G18123 | KH 347 (NN=FYRF=RH57 )— TH EE [6061 £k BR (o 26 75 76(5)
4 622982 | B EE ( AHOR ) —16146 64 Bl #z
5 622758 |FI HEHE ( T=RATFHYFR ) — Bl &8 60 63
6 Bye ( ) — INSH HEA
7 Bye ( ) ——/had A (WO
8 G10445 /\BH A ( —a—T0T(7TF=RH5T ) — BB #z
9 G16273 |¥AL BAFD (X-F5v=vy ) — HAL BAFD 62 64
10 Bye ( ) — FASL BAZD
11 Bye ( )— KF 62 64
12 624875 | kT = (mEO—>F-R(EEEE ) — L AR
13 622294 | KT B ( tenir )— KM JE W.0
14 Bye ( ) — K =Eh
15 Bye ( )— kB & [6060
16 | 13~16 |G03014 |/KB ==& (Z2—oOvT 7F=RH5T ) — A @z
17 | 9~12 |G22740 |FR #ZF (BEEE ) — BR &E 62 63
18 Bye ( ) — HR #E
19 622303 |§;F AIfE (UM RTZRHSST )— =0 fEth (6260
20 624391 |HMH 18 (4@ ES—>F =257 ) — 61 36 63 WF E—
21 G17195 |t8& K# ( ATC ) — B AH# 63 26 64
22 Bye ( ) — WF E—
23 Bye ( )— T %— [6375
24 621435 |4 F ¥— ( F=RA=N—X y — ME
25 G22118 |EH Ei ( EmMmTr=XHs )— FEHE B 75 62
26 Bye ( ) — ME
27 Bye ( )y—Bx ®E |WO
28 621214 | BT H4E (4—2BUTC ) — ME
29 G20787 |t TEE ( GODAIfL#E ) —1%F —5 64 16 63
30 621129 [ — 8 (€0&RYTF ) —160 63 FE —B
31 Bye ( )— &R 5% |46 64 64
32 | 5~8 [G20193 |Z R &= ("REF=RH57 ) — BN Mz
33 | 3~4 (G20759 |y B2 (EmO—VFZR9357 )— AWl 82 6162
34 Bye ( ) — Ml B2
35 623012 |BA HEE (ZETC ) — kM 3 6475
36 621829 |{kHE ( Bfan—>F7=x457 )—I6061 Ml 82
37 625062 | Il fofE ( KEEUNSILES ) —y Il e 63 60
38 Bye ( ) — )l foid
39 Bye ( ) —EmM gEAss |75 61
40 624947 |RE BAR (XA AAFF=RH5T )— ML 2
41 G20017 |#H #— ( fellows SPORTS )@ B— 60 62
42 Bye ( )— EH #B—
43 Bye ( ) pEm —pp |62 61
44 623946 |BEEH —AR ( HUTILLE ) BH B—
45 G22104 | &5E RISk ( Space135 ) 1 RGE Rt 64 57 62
46 Bye ( )— =AW
47 Bye ( )—1=& mw WO
48 | 13~16(G20389 |=A MEME ( RET=RY5T ) — il #z
49 | 9~12 |G20553 |/NEF 28k (BByrETAHE ) —NE B 6361
50 Bye ( ) — Zl #2
51 624509 &8 A% (HBBES—F 25T ):I’E%m we |76(563
52 623971 | Bl 48 ( SvFTF=RT7I)—F ) 75 62 it EH
53 G23049 |fAA EH ( T. ASKA ) EA 76(2) 63
54 Bye ( ) — 35t =T
55 Bye ( )—13t m=  [6162
56 G16674 |3t B (FIR—LTF=ZZRT— )— B Ea
57 621154 |5 I ( MANBOW ) %5 M 60 63
58 Bye ( )— B B
59 Bye ( ) =4k #Efg 6363
60 620562 |E4R &1T ( BlEk—7=% )— N=HUY=) rE2
61 G24511 |BEFE AL ( tennis team Mt )X Eth 63 60
62 G19058 |[Ak Eth ( ABTA Em#7—AfH% )— 6363 N=I—I} rHZ
63 Bye ( ) —— =~y —)L |46 63 64
84 | 5~8 |G23115 |s—rou—i 742 ( YCAC ) —




5596[E BARA —TU T RBEFERRATIVDE

BFS0RU L INVR (2) 1R 2R 3R 4R QF SF
Seed
65 | 5~8 |G17163 |FO &t ( AHOZME )— O Kt
66 Bye ( ) — O Bt
67 G19280 |A#E E— (MMT )— A8 B—  [366163
68 624652 |2k B ( BLUE LIGHTNING ) —162 61 O s
69 G21458 |RIB ERXR ( ER#BTRARTZAHE ) — XIB BR 43RET
70 Bye ( )— KIB R
71 Bye ( )— W™ B9 75 61
72 619005 |IUF B3R (3IRJ/F=RFS5HER ) — = R
73 G24031 |fFE ERE (D= AURFF=ZRY—L ) — PR B 64 60
74 Bye ( ) — B ¥t
75 Bye ( ) — A s [6061
76 622573 |4 fEth ( BLACKSOX ) — =% R
77 G25037 |{E& K #h=) ( inE% ) — R AR #hE 76(5) 63
78 623911 | &+ = (£ y—6163 =8 KA
79 Bye ( )— =8 fExEp [62 36 62
80 | 9~12 [624607 [=#p KB  GIFJIRT-REH ) — i BE
81 | 13~16|G16467 |#K Bz ( HHHTBAR )— A R’Z 60 62
82 Bye ( ) — . 4
83 Bye ( ) — s 7 |36 64 O1RET
84 625230 |4t 475 ( F—LFH¥~ ) — ik B
85 G24073 |k 18R (3FzZ2R—Y )— B R 6162
86 Bye ( y — £k BER
87 Bye ( )— /B8 %  [6061
88 620368 |/\E8 % ( BlEE—F=2 )— Bk T8
89 G24817 AR A ( TURTFZRHI5T )— BN ZFE 60 61
90 Bye ( ) — AR 2k
91 Bye ( )— B0 EE 6264
92 622738 |HO BE ( mRHTF—AHE ) — 55
93 G23782 |MIl KiE ( RKEEVSLTF=2957%HE ) — ML X 6160
94 G18327 |tk IEA ( BlEE—F=2 )—466364 |4% ftn
95 Bye ( )— 5% fs WO
96 | 3~+ 613814 | SR b ( ZR—YS—=2% ) — 1Rk T
97 | 5~8 |G24379 |fEA (F1E3 ):Ims B 62 61 @
98 Bye ( ) BA R
99 620117 UNIE 3— (FL3E ) —MIE — |6160
100 G21679 3Bk &K ( NTNL y—116 76(6) 60 A B
101 G24426 | =4 Bitb (EEHRERL A— ) — =4 fw 76(8) 16 75
102 Bye ( )— &X HE
103 Bye ( )—ex me (WO
104 624467 | &K HIE ( GODAI% ) — B %
105 624456 |EE A (temss ):IE iy 76(5) 57 62
106 Bye ( ) BEE B
107 Bye ( )—RE #— |64 43RET
108 623655 |3 B— (ENKF—RER ) — B Rk
109 G21607 |IH sk (F—LFVU¥V< )18 Rk 62 11RET
110 G17836 |B R (a—XTG ) —6162 B Ek
m Bye ( ) — 4l x—gp |64 26 64
112 o~12 (620149 [UA %—88  ( Hho<BR ) — B s
113 ] 13~16|G23522 |@H A4 ( EARBT=2937 )—@E+® AN W.0
114 Bye ( ) — Hh A
115 Bye ( ) E ST 63 64
116 622085 |t 44T (HTITA ) — AN
117 624085 |fLt % (‘rET-AA—T>  )—hkt 9% 64 63
118 Bye ( ) — g =
119 Bye ( )—URE 8 60 60
120 G24625 JE:E & ( TZRI—TiHmE ) — KR &0
121 623641 I B ( HAETC ) iRt 6164
122 Bye ( ) T R JIAT4VTYAR
123 Bye ( ) — Mg m— |64 61
124 624497 | H— (BLF=RYTT )— KIE &
125 614174 |22 B ( ZAR—Y5—=24 ) BE S 60 63
126 616849 |AZ #ith (LARHUR ) —60 61 KR &0
127 Bye ( ) 1 KJIE 4nsp |57 6364
128 2 (618396 |AJIE Z1  (OF4v ) —




5596[E BARA —TU T RBEFERRATIVDE

BFS50RUEFTINA 1R QF SF F
Seed
G21829 [fkH #7 (BRA—F=R55T ) RE
V1 la24073 |15 s ( aFzRK—Y )T |k
Bye ( ) KE #
2 Bye ( ) R T
G23012 |BAAY HEE (FEWTC ) N—=42—)L (60 60
8 625066 |30 FEZ ( WA RRERT )T |mo B
G23115 |n—ry—n #3x ( YCAC ) 64 64 RE #
4 617163 |@mO Mt ( APORMEE )T ik
G20084 |fEfk =& (JITC ) ki £8 W.0
S| 34 1617850 s % (®rEF=2A—T> ) |E2 X
G03014 |/KE =45 (Za—JRVFA7T=RH5T) W.0 ik 25
6 G10445 |INAHE HEN ( Za—TOVFAFF=RHFT ) g K
G25390 [lLA & (Rq)—=7 ) W B8R 6160
i 624779 | it 3= ( Aq1)—7 )T B
G19005 [IIR B3R (SXIFT=ZZATZHHER ) 06 64 10-8 t&E #H
& 624259 | (£ S ( RFY=wh )y R
G24467 | &4 HAE ( GODAIEIL ) &X BE 63 64
° 615562 |gak B (SRABAUFT.C. ) |&k ==
G17912 |=F RE ( BFlo—> ) W.0 &X HE
10 621744 1A% ER  ( BRO—Y ) Bk =E
Bye ( ) =4 B [76(5) 61
L Bye ( ) =8 &%
G20389 |=A MRHE (RET=RI5T ) &R HE
120 94 la0103 |58 g2 (mEr=zs57 ) Gk m=
G19058 |[RK ZEth ( ABTA Em#BT=-RH= ) ER Eth 63 64
18 620149 |{UE E—88  ( BholBAR ) uE E—m
G15494 |ZH 1EZ Cam&AET ) 7526 10-8 |E&JI #z
14 602086 | B HR Q=% ) KR s
Bye ( ) EA/ #z |62 61
15 Bye ( ) | RIE s
G20499 | RAJI FHZ ( TI—Cube )
101 2 leissos |xE 41 (aTqvy )

DIATAVY YRR



5596[E BARA —TU T RBEFERRATIVDE

BFSSEULI TN (1) 1R 2R 3R 4R QF SF |
Seed
1 1 |G00283 |&4E = (F=WIIARTZRHIST )— K = F
2 Bye ( ) — U WF =& @:'@
3 G18736 |=A £ (/7 AVRFRT—UREAM ) — /MU EF (6160 B AE @ 6261
4 G16315 [N =2 ( F—LFH¥~ )y —16262 xR =
5 G24329 |#5K T ( Sanyu Tennis L& )— &AJI %78 63 64
6 606368 |RAI %7  ( BERFAET-XH57 )—6261 B8l #7
7 Bye ( ) — Bk Em 6262
8 620265 |{FHE ==l (EURSILEETS ) — K =
618261 |FER BA (B|EI)—vT7=2957 ) —ER A 60 64
Bye ( ) — KHE EBx
Bye ( ) — kH EEX |60 61
618905 |5k XE*x (r;:szl;% ) — AR T
G22308 |IUF & (Y )— BAR BB W.0
G22121 |BHA HE ( CARLET )—160 61 EK B
Bye ( )— 2 H a5 W.0
13~16[622524 | @ A3k ( BRMENET=RI5T ) — WF =&
9~12 |G0O6055 |#F FA ( AQUABELLE ) — M B 63 63
Bye ( ) — mE B
G11284 |fBn BE ( BlE&—F=X )— s RE  [64 64
621939 | kip BE (HWEETF=RI5T ) —176(4) 64 M B
G12429 @K & (B —VF=ZY5T7 ) — 8% & 46 7575
Bye ( y— BmR g
Bye ( ) — KA g [6176(4)
623283 | kAT B4 (7 ﬂjj’j') ~TC ) — W =&
G24419 | &R FE ( ERFAETC )— RE ME 6160
Bye ( ) — W =&
Bye ( )—IIF F& [6261
G14210 [T =& ( #MAILITSC ) — T =7
G06611 3B Ea ( ZZFRFUFJRFT ) — /b $EES 6161
G16002 |/ 48R ( F=ZRAFATUR y—16164 KE BEA
Bye ( )—KkE BEA  |7564
5~8 |G14905 |KE BEA ( BB A ) — W £
3~4 |GO1540 |$4K FE (AVRFTFZRARI—ILANLR ) — 85K $BE W.0
Bye ( ) — B BE
622098 | KfE F1= (MITC ) &R fhsk |61 60
G16617 |EAJI fB4 ( GODAI ) —160 61 BA HE
623194 |F B K& (THLANF=RH5T ) — kB R 6164
06120 | K% Hi- (BAET-R957 ) —160 63 AB R
Bye ( ) =@ gE 6060
623406 | = E ( EHHTA ) — A e
G21961 |l Bz (A—RBUFZRHIST )— iy Bz 67(3) 64RET
Bye ( ) — BE B2
Bye ( ) @ wz WO
G21270 |f8@ #z (BTILFAY ):'_ TH &
625049 | KB #h ( RERY)—VF =295 ):'i_E tx 36 76(5) 41RET
G16070 |+ &3 ( AHDRKH ) 62 61 EH H
Bye ( )—1EA & w.0
13~16 (621384 | =M (HERF ) — Bk xTE
9~12 |G20220 |#K TE ( BEAEMENET=RYST ) —18Bk TE 576163
Bye ( ) — BHA TE
G18356 | /1Py EB ( KE+UMILTCEE ) — Mk = 6160
625090 | Mk SR (JPAVRFRF—oME )—6167(5) 63 Bk TE
G17006 |fAK 22 ( e—tennis ) A % 62 61
Bye ( )— WE &
Bye ( )/ Ak [6263
620082 |1E &k (REFGF-ZH5T  )— Bk TE
G00269 |fFE8 3% ( B+ )—FE = 62 63
Bye ( ) — 7 =
Bye ( ) —/hk z—  |6161
606027 | /iR 2— ( #RNRGAINEVTF—av e h— ) — B =
620187 |4k = (YT TF=RH5T ):ﬁa& E 6263
G24394 |FhIL AL ( KT =27 HTI— ) w.0 DE)
Bye ( )— A Al 62 60
5~8 |G22589 |3 Al (RS —>T=A05T ) —




5596[E BARA —TU T RBEFERRATIVDE

BFSSEBULESINR (2) 1R 2R 3R 4R QF SF
Seed
65 | 5~8 |G17761 |BIR &EX ( T=RISHFE ) —1BF EX
66 Bye ( ) — 5 &
67 G12092 |JI3D = ( MENVRLYRT =295 )— Il 5 63 62
68 G24164 | RIRFF B (FRAFATF ) —163 46 62 BE EX
69 G17757 3K i (9LSM )— K His 6175
70 Bye ( ) — K B
71 Bye ( )— Il 15 |64 61
72 621636 eIl 1815 (A—RBVF=2H5T  )— BE %
73 602682 |JIlfR = (F3HYTC ) — IR % 64 63
74 Bye ( ) — Bl ¥
75 Bye ( ) —— BB T 6161
76 624679 |fElH = (R u - y — BN 2
77 602122 | %R &2 (FZRAZN—X ) — A EZ 64 61
78 G17449 [Hz i B (ﬂﬁT A2 ) —164 63 BB EZ
79 Bye ( )— R = 6464
80 | 9~12 |G19461 | B E— ( ZUTARTA ) — SN
81 | 13~16|G15030 |&EK A ( FZRAFATUR ) — B8R K 6163
82 Bye ( y — = B8
83 G24096 |HAT EE ( 3NFT=RHZ7 )— = BH WO
84 625221 | =@ =8 ( HboIBHH ) — 60RET ING 44 E]
85 G21339 |/NEF #4 7] ( HrHGTC ) —/NE #E 63 62
86 Bye ( ) — ING 44
87 Bye ( )— k@ 5 [6461
88 618392 KM #% (2 ) — BN
89 623006 |ER IESE (H T C ) —ER EX 62 64
90 Bye ( y — =k BEs
91 G23666 |k FES ( HEHBO—vT=RHY5T )— =k B (WO
92 623208 |#EE =— ( 770XFH )—I6164 = A&
93 622330 |[{E4 K A A ( Fo—JL )— R AR AN 60 62
94 620970 |RER 5 ( KEtUNSALTCEER )—642675 |&)I AIS
95 Bye ( )y— &)1l M [6060
96 | 3~4 |G02085 | &Il I ( HREMN—F=RH5T ) — EIN
97 | 5~8 |G24028 |HM =k ( HAE ) BE =X 63 64
98 Bye ( ) — e
99 624113 |#83E 348 ( TENNIS SUNRISE )—BkE faa |36 6264
100 G13377 |BER FIA ( EX#EI ) 62 60 EH =X
101 G14688 |13 i# ( PRMET=XUTT ) I & 63 63
102 Bye ( )— P
103 Bye ( )—RE &t 6475
104 621416 [T &t (F 74/7»{—)le~ ) — =@ =%
105 623755 |758E MEifE ( 73V RA— ):I%gg e 67(14) 63 6}t
106 Bye ( ) bt A
107 Bye ( )—EW 5% |7563
108 G09636 |E|l 153 ( GODAlI F=zALw> ) — BAiR #F o
109 G14525 |71)l|l M= (A—RBUTFZRAHZT ) —— Al Fes 64 76(6)
110 G24741 | BIL 8% ( FLARARA— ) —176(5) 66RET |pgip s
1 Bye ( ) — B4R 4755 |64 6]
112 | 9~12 |G17506 |EAIR 1F5= (B—XTG ) — HH FEX
113 | 13~16|G20533 |#¥AfE {BE— (HERERET—1 ) T AR 1E— 64 67(4)RET
114 Bye ( y— YA
115 623933 |=iE % ( CSUF=2 )— FE+& Ek |60 62
116 G16048 |RH+E BEER  (BEERT=RY7T ) —160 62 AR fE—
117 G19020 |3Z AR  (BlEE—T=R ) %8 BAL 6164
118 Bye ( ) — S BAR
119 Bye ( ) T H & WO
120 621165 |M4T & (Ex —y )— A E—
121 G24071 |ER $R (=% ) EE S8 63 36 75
122 Bye ( ) Mgk I ITATAVTIRR
123 622489 | 7Rk IF A (j’bz/t)b TZRAY37 ) g Fg (6060
124 G22191 |f4H = ( RR—Y5—=F ) 60 60 S =%
125 G23686 |ithN AF0 (Ken STZAN—VEREE ) —Alg 3A5% W.0
126 623413 |l 3A3% (=B ) —16364 3 =¥
127 Bye ( )53 w6062
128] 2 [617376 |43 =t (FEpmHT =X 5E% )—




5596[E BARA —TU T RBEFERRATIVDE

BFSSBMULETIVA 1R 2R QF SF F
Seed
G12384 (B 75 ( JSPI ) AR 3
T lcoo2ss &k 5= (A—NYTARF=2H5T ) | &k =
Bye ( ) | BR HH
2 Bye ( ) K =
G18356 |FTA ZE (KEEASLTCER )  #K TE (7562
e G18357 |#4A —=% ( BMO—>F=2457 ) |8k #HE
G20220 |8 K JTE (BBEWENET =057 ) [6362 BR EH
& G01540 |#AK FE (ART7T=ZRRY— )l/\)bx) xE =
G18905 [;kKH EERX ( EXRIE ) KE EEX 75 26 10-7
5 606055 |43 T ( AQUABELLE RS
G07377 |£E B— (REI57 ) |e364 #8 =
6 608510 | FE *& (BWMO—VF=2557 ) PN
Bye ( ) BB o® 63 46 10-8
7 Bye ( )T kB %
2 o G00269 |fRRH ( BFF> ) | BR EB
77 1620906 | kA = ( FRERT=Z#H2 ) &IE 2
G17376 |5 RX (MWHT=—RER R S 46 60 10-7
9| % lateeos 1k mEx (Nesmr=E®E ) | Ex
0 Bye ( ) ] S =L
Bye ( )y £k B’X
G20533 |[#ARE B— (BRERART—1 ) HAR fR— 6363
o 621541 |=F7 2 ( tennis team Mt e
G19020 |FFiF BEARED (BFE—T=X ) 4660 10-7 S R
12 622912 B BB ( BAMENET=RI5T ) ek BEx
G06120 | KB HEC (BAEBT=-RU57 ) KB R 63 64
13 606119 |Yamam Dai  ( BEBF=2H57 )" |Yamam Dai
G23755 ARk MERE (727 ZR=Y ) |63 61 IR
14 623406 | =M WE ( JRETA ) L
Bye ( ) I fE 6162
1 Bye ( ) ® wm
G20190 [HRJII £ (RRI—2T=2557 ) | WF FE&
181 % laz1105 |m 3R (HrBT=RH5T ) AH EE
17 | 5.g 06368 |EAJI FF  (BEFAET=RUST ) __ KA %7 67(5) 62 12-10
G14905 |’k* EA ( Hh2TBAR Y |kE BA
18 Bye ( ) | T =&
Bye ( ) AH EEBE
19 G15373 |{RiR et (MBEF=RHZTMHE )___ LT =& [6363
G17345 |BIL & ( BFET=RYIS5T ) | KB EE
- G14210 |l =& ( #ILTRSC ) |466310-4 WF =&
G11107 | AH EB ( MBETF=Z9357 ) AH EB
o1 620082 |;EIE EX (EERAGT=RI5T ) #IE £k 63 46 10-8
G22498 |{E&2 K B ( PLARARZ— ) ErK &
- 624533 |¥AF F1SE ( ERITILARZ )__ |6461 =3 BE
G24741 |21 B% ( PLARAARR— ) I A
53 Bye ( ) =3 mE  |606]
Bye ( RS
oa | 34 (617994 |=F BE ( 7ORRKR—YHZT )| W =&
602085 |1l RIE (%‘é.@.ﬁ/w F=2557 ) AH EBE
25 | 5.g 018910 |BE (£ (911 )___BE 5= 63 76(4)
G19924 |#EK % (BMABT=ZRYI5T ) |Ek %
26 Bye ( )| BE® 5=
Bye ( ) it N
27 G14525 | )l He= (A—RBVF=ZH5F ) ___ Il #= [266310-6
G19461 |#R *— ( DUTARTA ) HE ¥=
28 G17506 |BIiR 475 (B—XTG )__ |645710-8 BIE EX
G15030 |#Ew JA ( T=ZRAFATYR ) B#H Bt
2 G19094 | K#E Z— (SASVITF=RH5T ) KiE H— 63 62
G17949 ||Ufy B= ( BEHT=RITT ) Wiy B= DI T4V YRR
20 612429 @A & ( HEES)—TF=2H5T ) |6462 BR 1452 mige- B2 foh
G22589 @ Al (BBES)—VF=2H5T ) BH BE 2150 =-Bm| A
a1 Bye ( ) my mx |6060
Bye ( Y |\ #®t
32 , |G17761 | &I JEX ( TZRTSHER ) |
G12289 |33 H+ ( aFszR—Y )




5596[E BARA —TU T RBEFERRATIVDE

BF60mUL TN (1) 1R 2R 3R 4R QF SF |
Seed
1 1 |G00280 |F/RA 1M (¥—KF7=2H357 ) — =R BN F
2 Bye ( ) — A AN it EE @:'w
3 624768 |BHE 4— ( BWMO—rF=R957 )— Mk =R |60 61 o %= @ 6136 64
4 615820 | Mk =% (BNHT—AHR ) —I6261 AA BN
5 610722 |/E #2 (BEIqILL ) — =R &2 60 60
6 Bye ( ) — R B2
7 Bye ( )— WU B2 W.0
8 G08130 |IUT B2 (BETF=RYI57 ) — FA EN
9 G00139 &Il Bz ( BshmENET=Ro57 )— &)l B2 60 60
10 Bye ( ) — Il 2
11 Bye ( )— 3@ % 166262
12 620214 3@ = ( BIGKES y — B BE
13 624246 |BE Bk ( BET =R B )— BF BE 1661 75
14 G00132 |EiE B ( AEF=2%537 ) —160 60 B BR
15 Bye ( )—ER % 7575
16 | 13~16]G00121 |£R =% (KPI ) — KK EN
17 | 9~12 |G20487 |pk[& 1E— (v-—o7tvs—Frarnr=arrrs— ) —— R E— 75 63
18 Bye ( ) — R E—
19 622657 |FE B ( ESSC )— PN 64 63
20 G21695 |chit f@2 (v=oravs—Fsarrs=zzar— ) — 60 62 E E—
21 G22467 /NP ESR (FEHT=AHE )— /N EE 60 64
22 Bye ( ) — INFE ¥
23 Bye ( )— =M @4 |6460
24 615941 | =M@ A (RHRE—YLRFL  )— N
25 G24776 | & <N ( REBBO—T=R957 )— £4# & 75 64
26 Bye ( ) — Lo W
27 Bye ( ) — B Ex 6263
28 622937 |E3 ( kWETF=RH5T ) — 1E R
29 G00122 |FHA M ( m2sports ) — 1 BE AE 6161
30 623133 |B1E == ( 7za—RRA— y—466363 |&E Ea
31 Bye ( )— % R 6264
32 | 5~8 |G14217 |52 A (1zZI=2TC ) — it oxE
33 | 3~4 |G00137 |3t == ( FZAAZN—R )/t = 60 63
34 Bye ( ) — it xE
35 G23703 | Rl %= (13— )— Ak g |60 2663
36 608196 | A HM (—%57=2557 )—I62 61 it 2E
37 G18048 (&L &7 (EBERI—2T=ZR937 )—18ll &7 60 64
38 Bye ( ) — B &3
39 Bye ( )1 %A =— W.0
40 624516 |EA =— ( FTUIANTF=2H5T ) — it oxE
41 619039 |37M =~— (KPP=ETA ) —HE R — 64 62
42 Bye ( ) — BiE B—
43 Bye ( )T 6262
44 607586 |M%E & (Y=FF=RH57 ) — ik =0
45 G16355 |HUT 2 (BESIBO—VT=2057 ) — 5T & 61 60
46 621344 |2A FH (BAEF=RH57T ) —160 60 feik 4
47 Bye ( ) — kR 4 |61 61
48 | 13~16|G02809 |{kfE =4 (S TP ) it EE
49 | 9~12 |G20703 |ghA B (A—REVTF=RH5T ) — 8k M 6362
50 Bye ( ) — A K
51 G15833 |&F =3 (EBYLS/X )—EHE 36 76(5) 62
52 G19250 |AF ( Bhz)— ) —60 60 #HA_ FH
53 620032 |73IE SR (CTA ):V_m% AR 6260
54 Bye ( ) TRE =
55 Bye ( ) EE = 6161
56 G21565 [FEZE = (AF4FR ) — Bl BT
57 G23596 |5kMH K& (CTABA=E ) — kB kB 63 63
58 Bye ( ) — XA XE
59 Bye ( e Uil 7564
60 615633 |[INR £ ( BRAAHARTF =T HTI— ) — Wl BT
61 G25058 |HH i ( BRA—TUTZAYZT ) — 5040 FIEB 62 60
62 608845 |FN4N FIED (55457 )—Iw.0 R o1
63 Bye ( )—EuL myg |62 61
64 | 5~8 |G06262 Bl @FT (=2Iz=TC ) —




5596[E BARA —TU T RBEFERRATIVDE

BFOORU L INR (2) 1R 2R 3R 4R QF SF
Seed
65 | 5~8 |G14857 |{kik BARE (URFE ) —EEk BE
66 Bye ( ) — ki BAE
67 624997 |fNEME B (HEHBo—VT-RAYST )—— B £ 6163
68 GOO141 |BiFE H%kS ( FORRR—YH5T ) —162 64 B BE
69 G21083 |3 H I£5 (F—4N'B M Ein 6162
70 Bye ( ) — H#HA EF
71 Bye ( )—E BE  [6160
72 623678 |l EE (UNTAHAR ) — HH Ek
73 G22601 |7EE E&A (IRE FZRALYF )— BB E#A 64 46 62
74 Bye ( ) — B 1TF
75 Bye ( )—R® 7R |6260
76 622974 | AB 475 ( RM w5 ) — M Ek
77 623285 |15 B ( EEHTA ) — 83 = 60 61
78 617927 |=@H FHF— (#hn—>5=x457 )—WO B HE
79 Bye ( )— B Fx 6061
80 | 9~12 |G19084 |fEF Zx ( F—LAHY< ) — X 5
81 | 13~16|G21080 |31l —[& ( HABOTZR ) — Al —BE 62 76(3)
82 Bye ( ) — = W
83 G24464 | B (FEO—>T=29357 )— BHK @ 76(8) 63
84 625182 |k #E ( HEHBO— 72957 ) —I 63 61 BB B
85 18408 [1BA % ( REFIT = R{BEH )— RS Hx 16 62 62
86 621742 |BEA Mz ( KEEMSLT=255788 ) —I60 60 M BB
87 Bye ( )— Mgk B8 [64 57 63
88 607261 Bk EzB  (HATLIAV ) — EX B
89 G12046 | A UX (BRA—TVTZAYST ) —BA I 62 61
90 Bye ( ) — ek #
91 Bye ( )— i % 63 61
92 G15466 | L ( B2 =F7F=A7HFS— ) — BX H
93 G18246 |)I| &EB (REYF=2557 ) — AE B 06 62 63
94 G20485 | k= =2 ( TPEE y—16236 75 B A
95 Bye ( )— E% S 64 61
96 | 3~4 |G21583 | A (‘mRO—>F=24557 ) — FO =
97 | 5~8 |G23983 |Ei FEED ( BRs—FrafaT=r322=7¢ ) — ) HIF FRER 62 46 62
98 Bye ( )— I BT
99 G09247 |#%ZHA AL ( RET=ZRYST )_IiEEI = 60 26 62
100 616391 |+M = (REBHT—AE% )—I6362 RE
101 G18920 | RZ ( EMAR—YRZEtE E— ) — 4 Er 06 63 76(5)
102 Bye ( )— hE g
103 Bye ( )— WA @2 466462
104 624270 |IUE Bz (WAT=ALE )— B
105 G10273 |RE BA (PYILF=RH5T )RS \ER 60 62
106 Bye ( ) — R EA
107 Bye ( )— &M 2 |76(4)61
108 G15354 | B #i (A—NHYLRF=2H5T ) — B Kk
109 G17170 |¢)I| = ( BT HiEAsk ) %W mt+ 60 60
110 G24670 | H E+ ( KPI ) 62 61 A HEA
11 Bye ( )18k A [6257 61
112 9~12 |G06134 |85k Ytdh (A—28VF=2H55T  )— B0 =
113 | 13~16|G15874 |A & = ({ B2 S54XTC )BT = 76(3) 62
114 Bye ( )— BT =
115 623191 |RA &= ( RAY—7 )— Ak = |7562
116 621784 |fEM 5 ( 73vI—aH)IF=2FH7=— ) —I 60 63 B =
117 G16426 |FE#k E ( EHETFZRRYI—IL ) ——1Esk EA 63 61
118 Bye ( ) — WA B8
119 Bye ( ) — LAk BFH [6475
120 623512 |IuA ZFBE  (METFII-TC ) — BO =
121 G24389 |FHf ( VRYAEHET=ZI57 ) —1BH & W.0
122 Bye ( )— B ITATAVT IR
123 Bye ( ) 2B s |63 32RET
124 624655 | B {RE (MitKT =288 ) B0 =
125 G15622 | B % (RET=RI357 ) —EH kR 60 60
126 624718 | =B %5 (e ASAITLRRISTER ) —I 64 62 EO =
127 Bye ( )—EO %= [6062
128| 2 615729 RO &— (FAR—LTF=ZRZT—> )—




5596[E BARA —TU T RBEFERRATIVDE

BFOOmMUEFTIA 1R QF SF F
Seed
G06262 [RRIL &ifT (I1=ZI=CTC ) %Am BAT
V1 Jco738s |ren 234 ( ClubHIT ) |Rer #A
Bye ( ) ] B R
2 Bye ( ) E R
G20214 |¥#H E ( BRKES ) EF EE 26 76(7) 1048
3 610273 |R% JBAR ( FYTNTF=RH5T ) | = BEED
G14217 |I|BF EH (1=Z1=2TC ) |6175 ik B
4 G23983 |=lr EEER ( MRAVS—FYaF N TZAA32=T 4 ) ErK #B—
G02809 |fEfk =4 (S-T-P ) fEEE = 76(4) 67(3)|10-6
S | 3% 615720 BEO &= ( PIR—LFZZRF—S ) |EQ #=
G22261 |7BK #& (BORWTZ=RAIST ) 61863 ki BAE
< G14266 |/\EF 5 (BORILTC )y eaX #H—
G14857 |fkik BAE (URZMlA ) fEBk BAZ (7526 10-8
7 602803 {4k #—  ( —BESTH—IL )T |tk
G13829 |FH ZFiH (RET=RH3T ) |6462 R B
8 623082 | A% #iz  (NF=RHIST )T ER %
G21080 |FLIL —F& ( HAEOT=X ) ER EE 75 63
9 00141 |§TM HxfE ( PHRNRR—YH5T )T e =i
G09225 |%M f5—ER (Re—>7=2957 )  |642610-8 |FR ®—
10 621210 | WM £ (RRHEF=RIST ) 25 %
G23730 | HE (BORWT=RAI57T ) HER fR—  |6161
1 G05376 | 7% (RENET=ZH5T ) |ER B
G20487 |BER TE— (oorevs—searnr=arnrs— ) [62 64 R E—
121 3~4 1500121 |28 5 (KPI )T HE B
G18920 |HEF B2 (EIZAR-—VYRFEYE—) RA #F 63 26 10-8
= G14984 | %% & (BABmENGT=RYST ) |AK K
G13677 |[RH &= (= I—r R957T ) 6263 AR SEBh
14 08196 |AA Hig  (—FF=RHFT )T it #E
Bye ( ) K 3k [76(4) 62
15 Bye ( )T it 2B
G06134 [#5K EBA (A=28V7=2557 ) |
18 2 lco0137 |3 =z (F=22=N—2 )T

DIATAVY YRR



5596[E BARA —TU T RBEFERRATIVDE

BF6SEULI TN (1) 1R 2R 3R 4R QF SF |
Seed
1 1 |G00755 |#kMH =4 (INeHETRES ) — #E EF F
2 Bye ( ) — gH =5 BB % @:'UJL%
3 609581 B &% ( &R TZRH—T> )— & #BF 6164 WE %3 o 36 63 62
4 601913 |Z| (1, HAl ( 7a-JTC ) —162 62 HE 4
5 G11238 |BA XE ( BFET=RY57 ) — BRE EE 63 67(5) 64
6 GI4719 [ BEE (RRMET=RYFT )— 266360 |@R &7
7 600210 | R RfT (EMe—VF=RH57 )——#R RfT |6160
8 624829 |BIR — 5B CERTmT—AHS )—wo. HEA F4
9 622260 |EF B (Club ACTAS in SC )— ER K& 63 60
10 Bye ( y — LH E5
11 622071 | B £27] (F—=LozA4X )— EH B |6161
12 G04400 |45 F =5 ( AceT=2%457 ) —62 61 G EB
13 G05447 |#iE —— (UN—HARTC )— AR 1 62 64
14 621764 |85k 1 (€o&2HIT7 ) —WO. WE R
15 Bye ( )— FEE R#E 63 63
16 | 13~16(G00212 |fRM {348 ( BRMENET=RI5T ) — HE =5
17 | 9~12 |G13826 | LAY FFK (=7:1) ) — ER FIRK 76(1) 61
18 Bye ( ) — W HE
19 G16476 |/NFR ( ERLTTF=RES )— ;e WfE 6275
20 621659 |FWah iE ( BO&RHT7 ) —16262 HO IE3A
21 G20491 |E% #E ( LEBRF=R9357 )— B0 E5A 36 62 62
22 620007 O IEAA (BORIUT=RI5T ) —75 64 HA IE5A
23 Bye ( )— /MR EE [6260
24 612248 |/JR EE (AEF=2/57 ) — A f%
25 G08977 |Fj{T #F] (F=LI12T1—IE )— HET #E 60 63
26 G12089 |k % (% :Lﬂwr )—Iwo. BT B
27 G17290 |&7T BE— (~A y— AT BE— |266360
28 614648 |Z8 = (5 %T x777 ) —63 64 RS
29 G02559 | HiE —Hp (UaTAVRF7TC )— BE —B 67(4) 75 63
30 621928 | 3 ( 7ROD—RNF=RH5T )—64 4664  |E& FH
31 Bye ( )— Bk fF  [WO.
32 | 5~8 |G04816 |BAA& 15 ( C—FETZ ) — BB HE
33 | 3~4 |G16555 |Hht Bk ( BRI ELYSTRARE ) —hH HE 62 62
34 Bye ( ) — B3 Bk
35 624882 |B 3A ("BABATF=ZH57 ) —1 & 3A 6364
36 620464 | A A ( B#M#O—>F=2557 )—I6175 i mE
37 G18883 [3KE 3BE (EEO—>7=2557 )— 2% 3 60 62
38 621711 %% (BABLAYIR )—Iwo. T fas
39 GO1054 |[/N\iE ( —E574— )T e W.0.
40 617452 |F5 {3 (13— ) —164 76(2) i EE
4 608897 |RIL IEFN ( #ALITFSC ) — B3 EA 60 61
42 Bye ( ) — B A
43 G24078 |RZFE B—HB (WM BT=AIZT )12 ps—gp |75 61
44 G15623 |RE # (ERIE )—I75 61 5% FEEL
45 618928 |#E3F &M (NECIJII )1 &2 Bl 63 61
46 600910 |52 fEdh ( BEEREKET 255 ) — /5 63 52 Bk
47 Bye ( ) BBE 7% W.0.
48 | 13~16|G21899 |fFH 5 ( JFE ) aE B
49 | 9~12 |G04672 | K& &=t (A. A A. )— KB it 26 64 75
50 Bye ( ) — AE %%
51 G11185 | =8 —m ( INEET = RBEED )—/=8 —@m |7563
52 622690 |RR XF ( Sy tET =2 A—7> ) —I 60 62 BB Hi
53 624697 | BB i (ERO—YT=2957  )— a8 @ 6163
54 G16630 | NI —i& ( —BHDEA ERET-ABLEAMBLE ) 60 60 e
55 Bye ( ) Vrid I 60 60
56 G00195 |fR@% &A ( ERO—VT=ZRY5T ) 28 B
57 G12112 |{f£1A &X ( IINPV=>TF=RHZT ) —la 5% 75 62
58 G15675 |AF EE ( MET=ZY57 ) —163 61 WF =
59 603017 | &)1 % (Y.s.C )—WF &= 753663
60 G19296 |l &= ( :/\7’777 ) —6160 WF =
61 622170 | pE == ( "REF=ZY57 ) — B = 6216 75
62 623214 |l — (@EF=2457 ) —16260 Ml 873
63 Bye ( ) —#l 37, |63 76(6)
64 | 5~8 |G13511 |l #73A (FU9F=2557 y—




5596[E BARA —TU T RBEFERRATIVDE

BFESEULEINR (2) 1R 2R 3R 4R QF SF
Seed
65 | 5~8 |G20036 |/\#k IIEE (EFEEHT-RAYST  )— /W U
o8 Bye ( ) — I I
67 G24132 | =% (BET=XY37 )— Bl HE (6260
68 621442 [BA A (F—LAFH¥%< ) —163 61 N ST
69 G19664 |/k#5 #E7A] ( FwEEO—VFTZR95T )— k48 A 75 62
70 622423 2% HEH (V-7 T-RER ) —W.0 K KEF
71 Bye ( )— Bl ME 62 60
72 622867 |RbJII FNE (£EBEF=2557 ) — 0 ER
73 G23644 |75 FEA (Y ZF7F=ZRHZT )— B EAX 62 62
74 Bye ( ) — TH EA
75 G17312 |+ H HA ( HEAOFHFTC )— tH HA 6161
76 622956 |EM ( REF=RH57 )—6160 E ER
77 625168 |85k A ( FTEECTARAZ ) — hHE HE 6261
78 G19316 |t =& (VIP-TOPZJL— 7’ ) — 06 63 62 D EE
79 Bye ( )— B ER 60 61
80 | 9~12 |GO60T9 | E& (®)lo—>F=2557 )— I R
81 | 13~16|G15981 |[U R Ff= ( F=AIZa=T4FE )— T FE 62 67(8) 63
82 Bye ( ) — W &6
83 G24731 |fH K% ( TIRvo 724957 )— 8 BiEXx |6160
84 623717 B0 Mk ( Yu—v7hTs—Ak—vs57 ) — 75 67 62 WF &5
85 G10781 |&f8 HH (=8 ) —— BIEB & 62 61
86 624593 |FER 1E (v y—1T6176(4) WS 4B
87 Bye ( ) — B Bz 67(5)76(4)40RET
88 622391 |# B2z (Yo5=2H57 ) — M %58
89 G15918 |REF = ( DIRANM)—=2F=RH55T ) — B - 60 63
90 624730 |%Kf #hH— (EmmO—>F7=2457 )—I4662RET  |mw %
91 G00135 |HF| #H=E ( NMSFI8 )— B BB | 76(3) 61
92 620458 K BAS ( LREUNSLF=255T ) —I64 75 W 28
93 G16311 |#f £ HBK ( RET=ZAHE )— K FH 46 75 64
94 620124 |88k FHEA (9IANY—vF=2455T ) —I63 16 62 R3]
95 Bye ( )— M #& [6160
96 | 3~4 |G01928 | & (K y— WA B
97 | 5~8 |G14414 |IUA Z&) ( ﬁﬁu vTC ) LE & 36 61 76(
98 Bye ( ) — WA %
99 621336 |ZE IE& ( #RSSC ) — kB B 62 61
100 G22689 |KAE B ( KWES =788 ) —162 63 WE A
101 618399 |wM 2 (REF=RH5T ) — e ferE 62 61
102 619198 | KB #H— ( "9 =7TC y—161 60 hE el
103 G14785 | MM i ( HEEO—>TC )@ gk 366360
104 G17473 |3 B% (TIC ) —167(2)64 76(5) MR-
105 G20139 |lhO A& (BRA—TUT=AH5T )—lo AB 36 6275
106 Bye ( ) — A s
107 G12361 |t FN5E ( REHR—LTZRRI—IL )—h# s W.0.
108 G23140 |$RF BE ( FILSF=RH5T ) —162 64 EIR {2
109 G20019 |Z&H =& ( RqYy—7 ) 2@ =8 62 67(4) 63
110 625048 |JI1& E—B8  ( A*HUREEzAT=2s57 )— 466375  |wig m—pmp
111 Bye ( ) —EtR fa—pp |64 5763
112 9~12 |G12347 |4k —EF  ( 3a/~ws57 ) — WE
113 13~16|G00576 | &K 178 ( 9424789 ) — Ak 13 6216 64
114 Bye ( ) — me
115 615827 |ME %— (BMO—VF=2457 )—1@EA B 6262
116 623700 |FEA BB (#REAR—Y<H5T )—I6160 fi B—
117 607404 |B[H 2 (RHIN—HT=RH5T ) —hiE B— 6164
118 G00560 |3t B— ( IFpTF=2HST y—6160 it B—
119 Bye ( ):I%%i E— |6363
120 G23701 |EE E— (A—=RBUFTZRIST ) AHF B—
121 G15801 |/NE i ( Bhlz)— ) —UNE Kb 62 63
122 GO1717 | e 149 (XERMT-AHE  )—576464 | s YTATALT YRR
123 G09695 |H#t tH— ( AUT ) —— A tH— 64 63
124 618240 |45 4= (LRYREE ) —16364 =8 &
125 622228 [SAE BT (BBEO—TC ) B BE 64 76(5)
126 G20157 |ERE & ( #AILRSC ) 26 62 61 =E ET
127 Bye ( )— =g =5 |60 76(2)
128) 2 |c00192 =B 1547 (BOBEWLT=255T  )—




5596[E BARA —TU T RBEFERRATIVDE

BF6SRMUALFT VA 1R 2R QF SF F
Seed
1 G16555 [FF Bk (BEYELyST=XRKEH ) B BX
1 G12347 |7FEHR fB—ER (Fanws57 ) R R—EB
Bye ( ) GELE £
2 Bye ( ) SEWR R ER
G11185 |[ZR —H (/NHERET=REEE ) ZR —@ (6061
8 620007 |0 TEEA (ROBILT=557 ) |E0O Ed
G17312 [£H FEA ( BHDHZFTC ) W.0 I R
4 G21899 (M3 % ( JFE ) B AER—ER
G09695 |FFAS #Hh— CAUT ) Bk 87 67(6)6210-p
5 G18240 |58 1= (LAY RER ) fnsE AR
G14518 |G &5 CIFNRT=RE%H ) 62 67(5) 10 |#LL #73A
6 G19152 |infE ZBA ( Z=EHHe ) BhE =&
Bye ( ) ful 3k [63 61
7 Bye ( )T aE =5
s G13511 |fIL #F3A (FIOT=RH357T ) | R BR
8 | 58 l600755 |ggm =4 (INeHBTF-AESR ) EHR 0
G17764 |HIE BE (#EA—FT. C. ) Hig BE 64 36 10-8
9| ™ le2sr00 |ma (BRAK—v=VH5T ) |EA B’
Bye ( ) HIE RE
10 Bye ( ) A 1B
G01717 |=# 158 (REFTT=AH= ) EE - [76(2) 60
1 604816 |E§A F1E ( C—FETZ L
622228 [AE BER (Bm/o—>TC ) 76(3) 63 His RE
[ G13826 | L4 FOFK ( E5H ) wA B
G22170 |BEE £E (RET=RI5T ) BE E£E 64 62
18 621659 |FH i (£O&RHTT )@ wiE
Bye ( ) NI
14 Bye ( ) LA #=
Bye ( ) IR E (6375
s Bye ( ) WA #=
G20036 |/NHR IIEE (RERAT=-RIST ) BE W&
181 °~% laros08 |y 2= (BRA—FVF=2H5T ) EE 3@
17 | s-p 000192 |EB (547 (BORIWTF=ZH5T )__ =B & 64 64
G19296 |IIR &= (3an<957 ) LT =
18 Bye ( ) 2B 17
Bye ( ) LT &=
19 Bye ( ) RE B 75 62
Bye ( ) pey: I IES
o0 G15623 |FRE # ( EXIE ) B ER
G19927 =@k = ( Wy T=xE%8 ) AHF B—
o1 620459 | KB & (MDY THREEE N 61 61
620385 |HA E ( Care. TC ) BXK B
29 G23024 | K2 FESE (2aT=257 )__|76()83 g Ex
G09581 |8 #s5 ( &EBTT=RA—T> ) HF B—
23 Bye ( ) 0 Ex (6060
Bye ( ) AH B—
24 | 34 (606019 JESD IER (®|NIoD—>7=24557 ) BB Hf
G00560 |3 B— ( AHTF=RH5T ) EE =8
o5 | 5. (020697 BB it (\ERO—VF=25357 ) __ AL @i 60 62
G01928 |FEfR =& ( KPI ) B 83
26 Bye ( ) BB T
Bye ( ) B 8
- Bye ( ) &2 gesh |75 60
Bye ( ) =
o G00910 | &% FEBA (Eﬁé% ﬁkﬁT ZEFIER ) BB ®H
GO3017 |&5)I| %4 (Y.S ) B 8
2 623472 |EH 2T (|~)b74/ ) wm = 61 61
G25186 |[/N/B RE ( BMT=RI57 ) AT BE— DIATAUT YRR
. 620019 |RH i ( RqY—7 )__|467510-4 |%m =i
G17290 |57 B— ( RqY—7 ) ST fE—
a1 Bye ( ) Bn gy 6446107
Bye ( ) BE B
) , |Go0376 |B& #F ( BRyIBO—F=2957 )
G13710 |2 = (xy7r’'87 )




5596[E BARA —TU T RBEFERRATIVDE

BFT0RUL IV (1) 1R 2R 3R 4R QF SF |
Seed
1 1 |G11542 |EA &5 (ERA—VT=RY357 )— F
2 Bye ( ) — EH H5 EE B3 @:'@
3 G18701 |LE E|A ( BEREEHHT-AHS )—fLH EA 6363 FH =T @ 75 64
4 G23418 |FR¥F FEHA ( RE®HO—>F7=2957 )—I 6160 B B3
5 601850 | &1L W3 (oI YLT=RY57 ) — B ¥ 46 60 60
6 618239 [#AF KA (#EmA—>v5=x957 )—67(6)6360 |xmM fE
7 621508 |7)Il BA ( BEREMET=2957 )—— AR ME |6462
8 G00164 | A FIE (BIRET=AH57T ) —166262 R BB
9 625319 [#AIE fEH# (E/BED—>T=R957 )— %% F 6162
10 610643 |52 =F (F—bFvLy )—  wo = 5%
11 G17400 |3E)Il EX (CTAEAR —/™E & 6261
12 600218 |%£ =3} ( BORRAR— Jv/ﬁj ) —16263 ElL 8=
13 620330 |5l & ( EmT=xE8 )/ = 46 61 61
14 622825 /)1l #0BR (BERGT-_AH5T )—I6162 B 2=
15 609224 |TEH F ( GODAIF=ZALwS  )— Bl 8= 6164
16 | 13~16(G19082 |EL 2= (RS Tq0h )—12676(3) 75 EE BB
17 | 9~12 |G02054 |#fP £ ( EEMTZRAR—LA )— 26 76(1) 63
18 Bye ( ) — MR £
19 G17825 | =#R # (BREm@mT-AY57 )— =& # 6161
20 G13870 | /Nt B ( KEwMSLT=29578E ) —62 16 64 i RESY
21 621264 |7iE Bk (BEXT=ZHE )—BE T 6167(11)63
22 600924 |BRE 84T ( MEARLYRTF=245T ) —60 60 Ba
23 600161 |fE E= (FEO—0F=2457 )— WKk Xk |6276(2)
24 624277 |k X% (HETFII—F=RH57 ) —I6163 B §=
25 600203 |fH fEA ( Eob=uFHRRESLT=RS5T ) — BE BA 26 64 64
26 620424 |E |l =R ( ZERT-AHS ) —63 62 A 3A
27 G12383 |&8 <Htnd  ( INEFZRHTT e - 7575
28 a17291 |k 2A (y=o y—136 6263 =H B
29 G19885 |EO {B3% ( #MT=2957 ) — FH E— 64 62
30 G16431 |FLH E— (REF=RH57 )—162 62 BH 5=
31 Bye ( ) — 76(3) 61
32 | 5~8 |600234 |23 H— (WBO—>7=24557 )—7 EE B2
33 | 3~4 |G07244 |(N¥fE IEif ( RRAR—YRVIST  )— 63 75
34 Bye ( ) — Wi I
35 621758 & % ( 9AVELYSTF=RE5T ):'E_‘ED iz [76(2) 63
36 G15757 [4BO 1Fk (ﬁ%l—l"J»r/I:l///T PREES I 6160 i i
37 G09635 | Eith R4 ( BBMENBT-RAI5T ) — ik F— 6463
38 G07827 |#AKR IE— (WIZWU VF=ZH5T ) —wo A IE—
39 620457 |BiH Hif (ALVSENTZZY5T  )—si@E & |60 62
40 622598 |BGR IEAR (YITC ) —106 64 75 s T
41 620637 |Hrh E= ( ZEEENBTF=Z757 ):'%i; sy 36 76(3) 62
42 601326 |MAZE XK ( BMHFO—2F=X55T ) 60 61 W #%
43 G14860 |/\ith fi2— ( TILSTF=RHFT ):I/J\jﬂj g— |7562
44 G24326 |JIl £ BB ( F=RFSHYAO ) 6275 FiE =8
45 G18066 |Els XK ( FABMNMN—TZRIST )—1=K &E 64 36 64
46 G06136 | =4t & (BO®EF=2s57  )—I 6161 P =S
47 Bye ( ) 6262
48 | 13~16|G18379 |{Fik EB (Y =ZF7F=ZRHFT ) — AN IF
49 | 9~12 |G00204 |4l BT (F—IUHYLR FZRHFT )— 46 64 63
50 Bye ( ) — il JEE
51 G17961 EfE FE (BRY)V—>F=2957 )— ik fueg |60 36 64
52 622857 |#A% F19R (J\BLO—F=2%557 )—7675 Al B
53 G14970 |h# 175 ( B ) —15hH 758 64 60
54 G16161 | FH ( EBTO—>7F=x4557 )—626] hi T8
55 G16168 | B MER ( REAR—YTVH5T  )—hg mx  |6160
56 620656 |31 & ( ANAYF=RA—Fo ks ) —I 62 76(4) Rl JEE]
57 623071 |h)I| $iE ( BEBO—VTREEEB ) —hIl e 6161
58 622942 [#A Wk (7UY9F=24557 ) —163 63 ol e
59 619348 |EO H% ( E)Io—>TC )— EO &% 6406 75
60 620941 | JIIA Sk (hhMET=—2s57T )— 7562 HE &
61 G24770 | FH1T ( BEaE )1 H@A & 1675 62
62 G07263 |FHA & (RET=RYIZT ) —wo HE &
63 Bye ( )— 64 36 61
64 | 5~8 |G18665 |EH BH—HR (mRET=ZRYIST ) —




5596[E BARA —TU T RBEFERRATIVDE

BFIORRILESVTNVR (2) 1R 2R 3R 4R QF SF
Seed
65 | 5~8 |G15447 |BiA #HT (FERBET=-2Y57 )—
66 Bye ( ) — B RS
67 620430 |/\& 1BE ( EART=RI57 )— @ Fk (6060
68 602056 |H8FH X ( B@3O—>F=2957 ) —I6260 I
69 G16240 |LbE £k (=2ET #E )— R EX 60 63
70 623139 |AM 4 ( HET =R B )—L  wo HE =%
7 620225 |FA MEX ( EERET A ) —Fik Bk [625764
72 G09683 |ELE A ( AUT )—  wo ME =—
73 623305 |EHF FH (ERT=2937 ) — % &% 6116 63
74 612531 % &% (ABET=AU5THE ) — 6060 EH TX
75 600160 |[RE FLX (B#HO—VT=2957 ) — &% wX 266262
76 624892 |ARE kX—  (MFT=RY57 ) —164 61 WE E—
77 G04207 |3M IEfT (FEO—>FT=2957 )— %@ Eff 62 63
78 620403 |fn#h BEA (REF=RH5T )—I576362  |ME -
79 Bye ( )— 62 63
80 | 9~12 |G07286 |jE F— ("EFART=-AV5T ) — AH =
81 | 13~16(G17020 |B5E H({= ( B#FHLTC ) — 5F Wi 60 61
82 G16353 |58 = ( NEFFAE—F=2H5T )—I6363 MEE o
83 G15600 |B & ( FEO—>T=2957 )— M B 36 63 61
84 G22109 |fngE Ih ( PRLTC y—1I6160 MEE
85 622203 |tH IF3E ( RBWET=—ZAHE ) —— AR 6164
86 GO0146 |#AR FM ( KBIFT—F=ZAH—F )—'60 60 HARE AR
87 G17202 |BEHA #mx ( PRV TF—D )—A 1 6161
88 G17090 |AR —%& (FBEY )~ TF=R57 )—'63 67 62 AE =7
89 G08874 |#fF HAB  (HEAT=RIST ) — B3 BRED 63 62
90 617935 |giE B— ( R#FO— F=2H57 )—I 6164 AE =5
91 G15704 |/hkk o ( BRT=RY57 )— BB TA  [6162
92 615537 | A = ( BORAK—Y=LH5T ) —I6160 AE =7
93 G16455 |FaFH H— ( F—LFo¥< )—lbnl HEB 6160
94 618218 |[ME BEE (/Y= FF=xH57  )—76(7)3663 |mE HESB
95 Bye ( )— W.0
96 | 3~4 |G00176 | #8 ( BREET=AY57T )— AE =7
97 | 5~8 |GO0172 |MIF K#E (74 7=R9357 ) 26 60 62
98 Bye ( )— ME K
99 G04199 | = ( HEO—VT=RH57 )— @t = 62 36 64
100 G23600 |M% 1H— ( INEF=ZH5T ) —160 61 KT RE
101 G17554 |B% fiz— ( RRUYRT=ZH5T ):l B E 64 61
102 G19072 |{E% TEfs (FAFAT=RY5T ) — 60 61 LAt
103 G14844 |IE AR (#EBAO—VT=2957 ) — M ®x 6063
104 611989 |#hk HK ( RO—vT=A957 )— 71561 B RE
105 G14707 | =3 & (RET=RITT i =2 M 62 76(5)
106 607652 |EE % ( #oOyTHBE )—'63 63 = &
107 G18501 |FHAK H= ( INEETF=ZRHI5T )—KE Ex 6146 61
108 609123 | KB 5% (YUS1XRHE ) —164 63 =@ B
109 G24327 |$iE IEX ( E7LTRT=RHE )—wi:!s 177 64 64
110 621760 |iRA #77] (TPEE )— BE FE
111 Bye ( )/ 62 61
112 9~12 [000217 [ER FE (MEAULURF =257 ) — ME RE
113 | 13~16 (G22271 |dtEH HEER ( H>5RO(¥ILTC )—1dtE HER 63 46 60
114 623559 |idt Bt (BRyBO— 72557 ) —I 6061 LM
115 G19205 |Efk #h%E ( MBXDT=RY5T ) — % w5 60 62
116 G21653 |7 #) 8 ( "EF=2I5T y—163 36 63 @ R
117 606320 |JII#k fli— ( FEEBT )— &0 fEeR 25RET.
118 G00162 |Z&O 1§8A ( INEF=RH5T )y—17563 =0 @
119 G17581 | K% Z3E (MB7V—VT=R057 )—ks % 61 76(3)
120 600147 |# BT ( BEAmENET=2s5T ) —60 62 JE A
121 G17422 | Kl B (3@")5’@/\1777 ):'_ = 64 36 64
122 G18885 | A& = ( REEVNSLT=2H5TER ) 75 64 =i B IIATAVY AR
123 619032 |FR5B B (REFT=RITT )jﬂ% yg— 6264
124 G20784 |E5RE ¥B— ( #AILFSC ) 62 61 % EmE
125 G18740 |/\g R<PR (mET= 7«’777 )—1BJIl A= 46 62 75
126 617674 |BJI| A= ( CTAEAS y—J60 62 5B BE
127 Bye ( )— 60 61
128| 2 601480 |%H B ( KBTST—F=2A—Fy )—




5596[E BARA —TU T RBEFERRATIVDE

BFIORUALFT VA 1R 2R QF SF F
Seed
G07286 [WH Z— (R=EFRHT= x’777 )
T Jai7400 g (CTAEAZ )]
Bye ( ) B R
2 Bye ( ) BT %
G18066 |HIF X (WEEAN—T=Z057 )  Hl K [614610-8
3 601212 |yt = ( OUM )T g
G14844 |NH XA (E®_EA—T=R957 ) [6161 T mi
4 625319 | ¥ (i (fEBAO—F=Rs5T ) B 8=
G15757 |BEA FFR (WY ELyDT=2ERE ) B0 FR 36 76(1)12110
S 619082 B 2= (182 T 498 ) |Ew 2=
Go0162 [EO 1EHA (INEFZ=RHZT ) |wo O fFe
6 G19907 \gaK BRI ( FRMHET=RIZT ) Bl 2=
G17961 [k F&E (RRIV—2TZXH57 ) dtE #E [76(5) 61
7 G01326 |MAZE #MXK ( BwHFO—>F=RH5T ) |FHLE BEE
G22271 |JLH HEB (Fr3oraAviLTC ) ___|6063 EHF AR
8 | 58 l617000 [+ pEE (HoSUROALFZRH5T ) 55 BE
G07827 |FAA IE— (DTAMI—2TZRO5T ) i R 6146 10-4
91 % 1600203 |m mEA (ARUTARRESLT=2557 ) |#E B
600204 |##IE JES] (F—AHLX TZZH5T ) [642610-6 | &
e 622109 | ( FRLTC ) T HE B
G17221 |HERE & (BRAR—YRVT=RI57 ) #iE & 63 36 10-3
1 612229 |#5@ FNE ( FATF=ZH5T ) |&m A=
G17202 |EIH #EX (7ENUT=2 ) |wo xit FH
e 609683 | EHE #HA ( AUT ) T w5 BE
G17581 |[K¥F Z3F (BRTV—2T=2557 ) &N & 6160
13 G18260 |1 f2E (#raTI—vT=2557 ) | M —E
G20330 |F)II & (WEHT=—RER ) 6362 A+ AR
14 G16575 |fnBEk —%A (E=mEHAT. C ) T HH Eh
G20983 |f#H ZFXK (TGL=vF& ) k¥ BB (1664 10-4
15 616709 |F1E f& (FzzxA-—FoLzwrz ) |68 B
G18665 |XFH H—HB (RET=XI5T ) 6260 TF k&
161 5~ lco1480 %58 B ( KBIFT—F=2H—T> ) A 5—
17 | 5.g (000217 IR FE (MEAVRLORT=Z457 ) KB HE 60 61
G15467 |ihat Rk (MEO—VF=2957 ) |E =%
. 600164 | KM FIE ( BFRE&F=2H57 ) __ |6162 KE HE
G00218 |Z& E=XR ( BREAR—Y<VH5T ) = BX
19 G14970 |thAf 175 ( BHsE ) i 75 |6162
G18701 |#LHA Z|A ( BEEEAMHT=AHEL ) |AE A
7 G16161 |HH FHA ( BETA—>7=2457 ) __ [6163 AH ME
G15704 |/\#k 2k ( BWT=R937 ) = BX
o1 G16486 |HE = ( $rBO—tP5F=2457 ) EBH 2= 75 20RET
G16481 |ATEP E& (N7 TF=ZRHI5T ) |BTH =X
- 609635 | =iy R4 ( BBmENSET=AY57 ) __ |606] g #=
612383 | &8 <HtOo (INEF=ZRH5T ) BT ZE&
23 622857 |FAA FNEA (JBLO—>F=2457 ) gi@ =g 6064
G20839 | kKB SHHED ( BEO—VF=2H57 ) |0E =8
0g | 3o (615447 |FIE 2 (FEHET=2RY>7 )__ |606] mE RE
G18379 |{Rik EH (IY=ZF7T=RHZT ) AR B
95 | 5.g 615037 \AH Z& (BRAR—YTVIST  )_ FAHE =i 62 75
G00234 |&¥ B (ATEOD—YF=2457 ) |&% 85—
2 624770 |HE F17 ( BT ) Jwo B T
G06136 |=%; fE& (BOBRLUTF=ZRIZT ) R FE
- 602934 |BE & (EAYU—VF=ZH57 ) EE fag  [6364
G06365 |)I|lg BB ( BT=RY5T ) R FlsE
. 600924 |EAZ 1T ( MEAURLkT =257 ) __ |62 61 BT R
G18084 |37 E Fis= ( Ei=a—4o2F=2557 ) B B
2 624109 |HIB FEL  (BBAWESGT=AYST ) M8 W 60 76(4)
G04322 (2|l % ( HREENET=RYZT ) A % DIATAVT VAN
30 G19072 |HEEF M4 ( FAFAT=RH5T )__|8267()10- T x
G18566 /i % (FAFATFZRIZT )y X B—
a1 G12531 |8 £k (VAET ZUSTHE ) MT k& |6363
620338 |[AlE t8 (FEBL=—77F=2E%H ) |#&x B—
ap | o (600172 \MTF RE (74 F=RHFT ) |61 61
G01263 |FEA [F— (A=nN—MEF-REEE )




5596[E BARA —TU T RBEFERRATIVDE

BFISEBULES VIV (1) 1R 2R 3R 4R QF SF
Seed
1 1 |G02060 |(LFA HF| (#AmT=RY57 )— WH BF
2 Bye ( ) — WH BF ik :’M
3 622802 |HTRF %X (EmmA—VF-—RH5T ) — FEE Hig (6275 L NRER o) 64 63
4 G00109 | 7% A ( BB REERS ) — 26 75 40 RET S 8
5 G00110 |$KHH 1& (HMRF=RHI5T ) — 8 & 64 61
6 Bye ( ) — B &
7 Bye ( ) — R 76(2) 62
8 611990 |=&l (W T=2757 ) — S 15
9 G06401 |#AZ #FBA ( HFO—>TC ) — A 1FBA 26 62 64
10 Bye ( ) — A 173
1 Bye ( )— BRI R 60 62
12 G23101 [By R (BEHHO—>T=2H5T ) — T3 HRE
13 600393 |SE3H AR =] ( HET=XEZXE )— 3 BE 6416 63
14 Bye ( ) — TH Ba
15 Bye ( ) — BF EE 60 62
16 | 13~16|G18229 |&8 IFfE (MIT y — kM H—
17 | 9~12 |G19935 |$4Kk Z3F ( REEVMSLTF=205T7BA ) — HK F¥ 64 16 75
18 Bye ( ) — A T
19 Bye ( )— X RE  [6262
20 622406 |BA H= ( BINRF=ZER ) — A £
21 G12065 |EiE B (HBET=X937 ) — 5 B 63 16 64
22 Bye ( )—l a5 1’
23 Bye ( )— R B [76(5) 64
24 G10778 |FEA Bt ( REF=RH5T ) — = EH—
25 G06788 |/ HBEZ ( INFT = R{BBEER ) — BB BZ 64 36 60
26 Bye ( ) — HD EZ
27 Bye ( )— EE B2 [6262
28 600093 |mEil B2 ( AEH#O—>F=2457 )— = H—
29 G19108 |#AK R ( FRY57 ) — KL BR 64 5760
30 G12512 |1l % (#ras)—0F=2H57 ) —I 6161 e F—
31 Bye ( ) — 4 F— |60 62
32 | 5~8 |G01954 |{EMT H— (BERSTINIST ) — i
33 | 3~4 |G19055 |fFEE 44 ( Az ) FEE % 62 60
34 Bye ( ) Bk B
35 612338 |fEH FE (UMVTVYRTF=ZH5T ):'ﬁEE foE  |6463
36 G19917 |HEHE BER ( BREFEBRT=ZI57 ) 615760 FiE B
37 623134 |#5@ #OH (SNTV—2F=2H5T ) —i=m &k BORET
38 Bye ( ) — e fo
39 Bye ( ) g vy WO
40 615713 |/h2 A (ALoSeNT=2H5T ) — P
41 G07014 |AM F—if ( EURUFRRERLTZRSIST ) —1AH R 63 62
42 Bye ( )— s
43 Bye ( ) Wk E 60 60
44 621201 |5k & ( KAELF ) g E
45 602828 |3EK &k ( BWAII7T=A957 ) — 8k % 63 61
46 Bye ( ) — WHE &
47 Bye ( )—WE & W.0
48 | 13~16|G17625 |[UA & ( SKYTON ) — Fk 18
49 | 9~12 617395 | T =% (WEF=RH57 ):II% =3 6261
50 Bye ( ) I =7
51 Bye ( ) EHE # 6163
52 609241 |FM ( RBETF=RH57 ) — IH EE
53 624663 |&HH kB ( ALHBHTAHPE ) — =@ %5 6275
54 Bye ( ) — #E Bx
55 Bye ( )—1#E Bk |/563
56 612423 |2 Bk (A=Y LRF=RH5T ) — Al fE—
57 G21874 | KR+t Z=BH ( By T RN—579UTC ) — AR =81 64 61
58 Bye ( ) — Al -
59 Bye ( )1 &) E— 6163
60 614050 |ZJII BE— (BRA—ToT=2H5T ) — Al B
61 G19536 | B4l IEER ( FEEL=F7F=RH5T ) $45% EBR 6262
62 G21654 |FBH Euk (ERO—>TZ2Z4957 ) 6161 JliH BRsE
63 Bye ( ) — il Bgs= |62 63
64 | 5~8 [G15236 |JI|#y BAE (REAT=RI57 ) —




5596[E BARA —TU T RBEFERRATIVDE

BFISERALESVTNVR (2) 1R 2R 3R 4R QF SF
Seed
65 | 5~8 |G12254 |{f[E &1& (MRF=RIFT ) — AR R
66 Bye ( ) — “E Ak
67 G13961 |HIE #i— (RET7IY—T=RY37 )— #E @ [61 41 RET
68 G14607 |#iE A (4 %u VF=AH57  )—I61863 @ AR
69 G18078 |#iE ( BBEZAR—YRVHST )—E & 36 62 76(5)
0 Bye ( ) — BE 3
71 Bye ( ) — #F 3 62 64
72 G18647 |#F 5A (ALVSELTF=ZH5T ) — WE A
73 608678 RR %7 ( BAmENET =257 ) — BR X7 62 62
74 Bye ( ) — RR %8
75 Bye ( )— &F B3 6362
76 GO0114 | BB 8] ( HFEn—5=2957 )— B E=H
77 G16965 |63 iBME ( ZEAREPTAT=RY5T ) — B ik 67(5) 63 61
78 Bye ( y — #8 E=ER
79 Bye ( )— 38 E=# 6061
80 | 9~12 (613912 [4f E=EB ( BAEmENET 25T ) — AN SRR
81 | 13~16|G00386 |{LB #AB (FET=RIST ) —EE R 6162
82 Bye ( ) — E8 AR
83 Bye ( )—EJ)Il xE [606
84 625026 | /)l =fE B Sy p— W =%
85 G18007 |AfH &% ( TIRVD4Y )— HHE &5 62 64
86 Bye ( ) — mil Ex
87 Bye ( )— )l Bk [WO
88 611013 |1l Ex ( BHOBRT=—At 48— ) — L NRED
89 G23373 |2H #2417 ( smmr=zpans 7o sy ) — BH 21T 62 76(2)
90 Bye ( ) — BH 27
91 Bye ( )— BE H#  [6216 76(5)
92 G18427 |EF H3h (BEA—FVF=AH5T ) — L RED
93 G16157 |BA IEE (NAEH—TFUF=RI57 ) — BE EE 6162
94 G14649 [{E4 K Bk ( tRF=2H57 y—16061 INL NRER
95 Bye ( ) — /b hRER |60 61
96 | s~¢ |a19655 /NI NRED  ( BLAMENT=AITT ) — AN INRED
97 | 5~8 |G16986 | K78 FEA ( EBEISLT=RIZT ) — kf BA 63 63
98 Bye ( ) — AF Bk
99 608921 |RIE Figt (CTAAAS ) B2 g |76(2) 64
100 600102 |# 4287 (WTC ) —163 36 64 =iz B
101 G00101 | =45 & ( FHEO—2TZRI357 )—1EE B 76(2) 46 64
102 Bye ( )—' =E 5
103 Bye ( )t ®m— 75 61
104 G20976 |7e4 T (BEA—FoT=RH5T ) — AE B
105 612620 |1 BB (B#HFO—VT=RI5T ) Bl B3 w.0
106 Bye ( ) EH HE
107 Bye ( ):'Eg HE 64 61
108 G16330 | EE HE (A#HO—VT=2H5T ) BE B
109 G15672 |BAE B ( BMT=R957 ) AB BR 6161
110 Bye ( )—' BE BE
111 Bye ( ) —p)l s (WO
112 9~12 [G07079 |5&)Il BAER (=zET2 y— AE B
113 | 13~16|G19897 |+ FE (DAVELYSTZRYIZT )—HP EFE 67(3)75RET
114 Bye ( ) — Heh EE
115 Bye ( ) %H B— 6164
116 G10868 | B— (R—>a ) — M EE
117 G18390 | & HEa (WBT=RHFT )— = W.0
118 Bye ( ) = 7
119 Bye ( )—1=8 & 62 63
120 CO1971 | =48 & (HEAYFLURT.C ) — Be EH
121 G15454 | KL FHi (ART=RI5T ):Iﬁﬁ Hik 60 63
122 Bye ( ) A FHik DIATAVT AR
123 Bye ( )4l o |75 75
124 617835 [4L)Il F% ( BET=2557 )— A ER
125 625265 |BA BB ( BMEERAVATZRYIST ) — %4 B 62 60
126 624051 |JIlE) B ( AET=2957 ) —16160 Bh B
127 Bye ( )— g x| 76(3) 36 63
128) 2 |a20672 |/h® X (FEEETF=-2957 )—




5596[E BARA —TU T RBEFERRATIVDE

BFISEULET VA 1R 2R QF SF F
Seed
1 G20672 [/NEF BER ( FERET=XI37 ) MNE X
1 G19055 |{FiE # ( )|
Bye ( ) | NEp FEX
2 Bye ( ) FiE B
G08678 |RE XRF (BBEWEMNET=R057 )  ®RR ®A [633610-6
8 618427 |[EE 3k (A FrmxnsT ) EE
G20033 |EH & (HEEHHN-T.C ) __|6164 NG BEX
4 G20234 |4 = (E%L-T-C )y Pk 8
G16878 |&ZH Ml (S.ONEZV—YT=2557 )  #H 62 61
S G15601 |m)I| *¥= ( MEEAVN—F=ZH5T ) |@J %=
Bye ( ) BOE AUk
6 Bye ( )y Bl Rk
Bye ( ) ®E Ak (6464
7 Bye ( ) |mim mR
G02522 |FIGE BUH ( #R1va—FoafLT=2032=74¢ ) INEF R
81 5% la1ss21 |mim mRE ( BRITTF=RH5T ) B %
o | o 608352 |ILA ik (BEA—TVTZAI57 ) A it 6116 10-2
T 613734 e BE (BRA—FVTF=ZH57 ) |+E BS
0 Bye ( ) | A s
Bye ( ) hE HE
G10868 |%EH B— (= ) FH Mz (7575
L G11990 |&F @ (fr*iﬁjo 2557 )T A%k &%
G13962 |F& iz (@7 73)—T,/C ) |6163 RH# B
[ G15407 | 8K K% ( M@773)—T,/C )T R B
1 G14607 |#iH Fn (|EO—2T=RI57 ) @@ 64 75
619501 |R= & (EBT=R957 ) e A
Bye ( ) ] R &
14 Bye ( ) w3 BT
Bye ( il 16 64 10-6
1 Bye ( )i mx
e G16156 |RF 18 (REFAT=RYST ) | INEF PR
161 58 1614207 13t =% ( SKYTON )T i
17 | 5-g (006788 |THA EZ (INEF = R{BEED ) #e EZ 7575
G17625 ||UA & ( SKYTON ) WA #®
18 Bye ( ) | HR Bz
Bye ( ) WA #®
19 Bye ( ) RY R 64 61
Bye ( ) &% EE
20 623101 | B R ( BEHBO—0FT=RH57 ) __| = F—
618229 | B IEf& (MITC ) BE EZH
21 622821 |BEA BEE (FomRTF=24557 ) Bk E¥ 6167(6) 1015
G22805 B IER (o9 IRTC ) I~ BRE
- G19935 |#AKk ZF ( xEtobsL7=255788 ) |WO B H—
G18124 ||IUF MRE (== TH Y BH E=
23 Bye ( ) femr H— 6362
Bye ( Y |mE E=m
94 | 34 |G01954 [EMT FH— (EFESTINIST )| Il E=R
G08271 |EAM E=EB ( EBT=RY57 ) MR BR
o5 | 5. 002828 7K X ( BWRAITFT=RH5T ) ok X W0
G15672 |7BE &A ( BMT=A9357 ) AL BA
26 Bye ( ) | Fb R
Bye ( Y AR %
97 Bye ( ) FE s [wo
Bye ( ) |aEm =
o G18944 |3 b F# ( EDATZRYITT ) | ol =k
G22358 |AH R ( MEEI73)—TC )y RER EE
2 G21320 | R¥F —3% (#E7=2s57 ) KM HEB 6164
G00119 |\FkJR & ( HREENET=RYZT ) AA 1F5A DIATAVT VAN
30 616188 |AMH =P (LaHorELaT=2557 ) OO L g%
G06401 |#AA 1FEA ( AEHFO—TC ) R EE
a1 Bye ( )___#) #mx 8061
Bye ( ) R s
32 , |GT1013 |41l FEK ( BHOZET=Atv4— ) __|
G12254 \fAIR B1E (MRT=RIZT )




5596[E BARA —TU T RBEFERRATIVDE

BF8OmMULI IV A 1R 2R 3R QF SF F
Seed
1 1 |G00089 |He IEMI (=F5T1% )— HF IR
2 Bye ( ) — M ER
3 G22229 |/NR RE ( BEMRT=ZRY3T )—E%5 EE (6062
4 601364 |E%H BEx  ( BHMEI<YA4—X )—75 26 10-6 At T
5 605211 |BR 5% (IINP)—>F=2957 )— BF ' 6261
6 616485 |EH & (BE+T40LL )—J6164 A S
7 G09020 |HA H—ER (BAn— T 2AKE )— BB Xt [643610-5
8 | 13~16|G23636 | B4 i ( BET=RH57 )—164 16 10-7 =l R
9 | 9~12 |G06382 |Z5HE BAME ( JFE ) — Rk BATE 6262
10 621027 [#E B—E8  ( £FT=2H37 ) —6163 T B
11 G16550 %8 HJA (wzEthr=—220—LFgE )— K8 BA 6062
12 620183 |ifE B— (#msgET=AY57  )—467510-8 =l E
13 G25034 |FATR F ( INEF=RHFT )— BT xE 62 64
14 G14767 |10 Bs= ( SKYTON ) —162 62 HIE fE
15 Bye ( )— B @ [7563
16 | 5~8 |G14766 |l (i ( BMT=R957 ) — INE BE
17 | 3~4 |G05553 |BE =R ( REEBRT=2937 ) — BE =M 64 63
18 Bye ( ) — BE =
19 621790 |fRH H27] (hAR )— B fME 6163
20 621045 |E#h FIE ( BAmENIET=2r57 ) —I 3663 10-8 INE EE
21 609037 |/VE 1B (MOFT=RI77 ) — /NE EE 62 46 10-4
22 600047 |iR B ( BAMENIET=—AY57 ) —I 6160 INE JBE
23 G24143 |FIA &E=X (BET=X937 )— /A B |62 60
24 | 13~16|G16655 |/\FY {5k (~TILRC ) —160 62 INE EE
25 | 9~12 |G19648 |ZRA &M ( mirs>7 )— RE B 36 60 10-1
26 616173 | &M KEE ( BEAmENET=2957 ) —IWO %)l FE
27 G09461 |3&)I| %E ( EXRHR y— &I FE  [167510-8
28 619355 | ILE A (BFABRTC ) —146 75 10-5 W mE
29 G10629 |l E f{@sH (RFET=RYST )— B 55 6175
30 G15237 |iESE &H (HoTIySTF=2H5TAE ) —61 60 wWH BB
31 Bye ( )— tid BB 6346 10-5
32 | 5~8 |GO1486 |MAF AR ( BELEHT=RI5T ) — Mg B=E
33 | 5~8 |G17191 | &8 BH ( BEI7I—TZRITT ) &H B 63 63
34 Bye ( ) — 55 B
35 G19006 |#BEA FH& ( SPC )—BEX B8 64 36 10-8
36 G12818 |7 3= ( RBIRYI7F=AS5T )— 64 61 X% Bl
37 G10480 |/\#k EBIL (FWMBEL—FF-ZEB ) — /It B 75 46 10-5
38 14665 A H—8 ( REHO—VF=As57 )—6356710-6 |k Bk
39 614316 |[5HE T ( E#ESSC ):lﬁﬁ% e 6457 10-3
40 | 9~12 |G13676 |5EfkE 4 (%EE/jI) F=2H55T ) 63 76(4) RE fE:E
41 | 13~16|Go0067 |ERE % ( BAMENET =057 ):'Maﬂ B 6263
42 G16121 |@:0 = (iFF'ﬁT 2557 ) w.0 ER 4Bk
43 G17814 | R X ( NEFFAC—T=R957 )—R8 sk |63 61
44 615604 | AT HmE (BrEO—F7=2457 )—6160 RE S
45 G17893 M E% (BOBILF=AY57 )— e 8 W.0
46 615064 |HRA % (1=—92K% ) — 6463 e 3
47 Bye ( ):'ﬂi% wx 6261
48 | 3~4 |GO0073 |fRE #EZE ( F#FO—>7=24957 ) ik A
49 | 5~8 |GO0084 |EHE T ( BHT=ZHI5T ) T ER S 64 64
50 Bye ( )— EH i
51 G00592 |5)1l Heks (MET=ZHE )51 Heks |63 64
52 G15392 | At #R (BRA—TVT=AH57 )—IWO tEBE A0
53 G14736 A+t BA%k ( MEO—F=Z957 ) — a5 268 60 61
54 G16592 ;% &—EF  ( TTEHAR )—13660 10-8 |yem &
55 G17626 [/NFE Zfk (TTHmER )j@ A |62 61
56 | 9~12 |GO0072 |{Efk AN ( HFRBRT=ZH& ) 63 60 gk A
57 | 13~16(G21482 ||\LE L= ( BO—2TZRI5T ) — kB B 64 76(1)
58 G17038 k% # UNEHT=RHE ) —161 60 S % GIAFAH YRR
59 G15241 |32 ERE ( ARBO—>T7=2957 ):I%m =i 6263
60 G15751 |FkJE =E=i# ( H#WNFTC ) 62 61 KB &
61 G14942 |34 B ( F—ILHYLRTFZRIST )— 54 B 67(4) 61 10-8
62 614633 |EH EE ( BI{ERT = A58 )—I6363 Bl Bk
63 Bye ( ):IJ%U% Bk |63 61
64 | 2 |G22506 |EIE &k (LZWIRTF=AA—TY )




5596[E BARA —TU T RBEFERRATIVDE

BFe0mMUEFT IR 1R QF SF F
Seed
602985 [RTH /EHE (HEO—2TZRI3T ) AIE B
1 " |eoooss | st (EmO—VF=2H57 ) |+ di
G19355 |ILE B&A (FBFHIETC ) 63 62 =H fk
2 614942 |iR4 Sk (A=Y LRTF=ZZHTT ) MM B
G02530 & #KF (RBRITTT=RI57T ) EH @M (6264
s G14899 |t558 B (BESAETF=RY5T ) |HE B
G20178 |5H HH (BIIB—>F=R557 ) 76(1) 64 R #H—H
4 G00419 |F4M ih ( Tr=wHRRA—Y )T AT IEF
G12818 /A =2— (RBRITTT=RI57T ) R W 76(6) 75
| ¥ 00077 |4 E ( BRHITFT=2557 ) |ATF EF
G09020 |AA FH—EHP (HEO— T-REEF ) W.0 BE W
6 G14724 | KT IEF ( MEEHIN—F=RH5T ) AT EF
G24143 |2 &X (BETZRI3T ) Bl X [6260
! 623636 @A X (BEF=RITT R
G22506 |l FER (LZWIRTF=ZZAA—TY ) 64 67(4) 13-11 X H—m
& 615064 |{RR & ( A=—HRAHK ) AT IEF
G19006 |BA &0 (SPC ) LM Bkl 76(3) 75
< 614665 |24t E—fF  ( REHO—F=X ) |BE BE
G10464 |%EH Bl (BRI )—VT=RI57T ) 64 63 HN FEA
e 619922 |Eds B (F=2HA—F> L=wbszr ) Wi B
609461 |RJIl FHE ( ERHT ) ®I AE (6464
i/l 01486 |#AFE FE ( ECEMTC )T | mE
G17191 |X% B (BET7IV—FT=RI37 ) 76(5) 76(7) N FHER
120 9% lo1o648 |kt (muRsST ) it AE
G15691 [T #5538 (BHEFIVEN - TZRITT ) A 55 6457 11-9
E 624698 |84 $E= ( BHEAAVENT=RH5T ) |8k =
G21790 |fgH H7] (AT X ) 57 63 11-9 |=ik Bk
14 G01364 |EHH EH  (BHBIVAZ—X ) S
G11431 [\Ng #H—HB ( RANIEH ) =i E 6175
s 614345 | EU5 B ( BANIEY ) A -
G14766 | =l [EH (&MT=x537 ) 6162
18 2 leiss10 [ #— ( 2T =255 )

DIATAVY YRR



5596[E BARA —TU T RBEFERRATIVDE

BF8SmMULI IR 1R 2R QF SF F
Seed
1 1 |G07720 |FIE # (Z8Y)—vT=RY57 ) — HH #
2 Bye ( ) — JIEs &
3 G12633 |FER IEME (BREET=X9357 ) — Il B w.0
4 600006 |JIliEs 1& (HHPRTC ) —60 60 )i &
5 G15402 |BA A ( RFRID7I—FT =257 ) —— BE A 6261
6 Bye ( y — R FEE
7 Bye ( )— A EBE |61 61
8 | 5~8 [G12719 | =k ( RASEHBF=-AA—Fv ) — HE 2B
9 | 3~4 [G01877 |xtA BAF ( REERRTC )—x A 64 26 10-7
10 Bye ( y — Tx B
1 G12651 3K & ( FEEL=F7F=ZH57 )—FK & 62 62
12 G00017 |[B& EF ( BAmEAET=R5T )— 6162 HiE a2 B
13 G22355 | K& HE ( BERERAVATZAIST )— ALE BB 63 62
14 Bye ( ) — HE 2B
15 Bye ( )—— A iz Bp|62 63
16 | 5~8 |G18564 | fH2H) ( BILT=RA—TV ) — aF EXR
17 | 5~8 |G06053 IR & (Frlo—€7=2957 )— & & 63 62
18 Bye ( ) — R RE
19 Bye ( )— &3 =E |60 61
20 G17014 B3 =E (CTA ) — B HE
21 622290 | &Il J& ( RfO—>F=24357 )—— /Nl E= 64 62
22 616997 |/ FE= ( ERETA )—Wo iE
28 Bye ( ) —— itE #F |46 63 10-4
24 | 3~4 |G04474 |xtE #AE] ( HEO—>5=2457 )— Az ER
25 | 5~8 |G02849 [t Ft+ (MRT=RHI57 )— 3L &% 63 61
26 Bye ( )y — #r &t
27 Bye ( )— BN & W.0
28 600409 |74 12 ( @Ero—57=2457 )— s IR
29 G19098 | =M FAIE (FWBL—7TF-XER ) — IR A& 6262
30 G19524 |MTJE % ( THLANF=RH5T ) ——W.0 Az EX
31 Bye ( )—— &F Ex |6060
32| 2 |ats248 A3 EXR ( RTSIBEER ) —

JIAT4VTYRM



5£96[E BARA —TU T RBEFHERRATIVDE

BFe5SmMUEIT IR 1R F
Seed
G15248 [AFE ER ( RTSEZEE ) RH RE
T lcoooss |pem = (HURR—YF=ZH5T ) |dHE s
G17014 |ZH RE (CTA ) 6162 BH RE
2 618564 |Hs@ 2B ( BLF-XH—FV ) HE Bz
G19098 |&HH FALE (ZBRI=ZTT=RER ) HHE = (6163
e G04474 |3+ #E] (HFEO—vF=2H57 ) |AB &
G22274 |BH &= (g7 =x5357 ) W.0
4 622486 | KM ( BREAT=2557 )

TILTAVT VAR



